INOX 2019/2020

®
Aumakov
4 " PRODUCT/SYSTEM/DESIGN



35— | 25 500 m?
UMAKOV KROMPACHY [ %

P 5 lat UMAK rod Ie—
L eﬁy?g'éatgnﬁse ﬁ:mgj oraz. plk! d‘!lame o szﬁe ?

Dﬂa{alnofc fi Umakov realzmnsna w 1ch Ma&‘.nych
ddziata s }est na Stowacii

QUALEORM, a.5., Miah 42 00 B Sasonaby, CZ ch oraz sieciach Cze‘gﬁ
CERTIFICATE OF CONFORMITY Poisce ina ngrf‘zdflmh Firma p%ﬁﬂd&SbMIez WIGS“& produkce;
OF THE FACTORY PRODUCTION CONTROL %%slhmoml o Ocﬁwek?vraz administracyjne © fgcznej powier-

Na;wyzsza jakoté, szybka dostawa ponad 5000 typow kompo-
s e S e
Steel and aluminium structural elements, components, sections and jSkHTI 7 Sprzrgxlzy I ne% i rynnw pe-

censtructions

Nahsggyofeﬂa obejm gg rowmez systemy szklane, zadaszenia,

—:

production of the execution class up to EXC2, declaration acc. to methods: 1, 2, 3a, 3b

Dz o 25 years UMAKOV has produced and sold components
Pl fo?rs%i%rleﬁ steel and glass ralllnpg';s 2 ety

Umakov business activities are carried out in their own branches

and network of partners in Slovakia, Czech Republic, Poland an
ngary. also owns their own production, commerci

Hun: {:om?a

and administral wewspmmmbmlwe&dabm 25 000 sg.m.
_T0p quality, fast fl n.nery, over 5(}00 types ﬂmn& S Inosl_fgc(:)k
Europe s market Ieaders in rajlmg components.

: " PR ; Qur portfolio also includes ems, canopies, stairs,
Allgemeines banauf iches Priifzeugnis acoesones and [orged cgr{?wneé?g P gﬂiae

pour les garde-cormps inox et verre.

La societe UMAKOV dispose d'un réseau de filiales et parte-
%res en Slovaquie, Republlque Tcggqur%dﬁolognedetvlgg{leme
posscde ses pi es e ay
se;gn de son sicge admlnls‘hﬂ dune S?Jrface d;)n environ 25 000
m

Depuis plus de 25 ans UMAKOV produit et vend des com-
posants

Haute qualité, livrai ide, plus de 5000 types de com-
Posanis en stock et uner%gsmfazgoe technique professionnelle,
aujourd'hui dUMAKOV un des leaders européens dans le
secteur des composants de garde-corps.

Notre me comprend également des systémes
awerﬁsgag;cahers accesso(res pour portails et picces forgées




e

. - ‘
AFplaIblojrgories 4 tested STATIC STUDIO




r['
l

FRAMELESS
GLASS RAILING

Wl

POST
RAILING



GLASS
SYSTEMS

240

STAIRS,
ACCESORIES

308










1 AL PROFILE
m B SYSTEM

1 GLASS
B ADAPTERS



1 . 4 HANDRAILS

PRODUCT/SYSTEM/DESIGN






U PROFILE AL/0002
TOP MOUNT AL/0004
FIX AL/0008
U PROFILE AL/0012
TOP MOUNT AL/0014
FLEX, LED AL/0016
e oo
e AL/0010

AL/0003
U PROFILE AL/0005
SIDE MOUNT AL/0007
2 AL/0009
Y PROFILE AL/0011
SIDE MOUNT AL/0013
FIX AL/0015



e -
o
e
= "ﬂ o

%,
b

'VSG/ESG
GS/16.76...

e Il\ AL/...-Drain
AN
" "
\ AL/003...
B === A19/00... &

L \, 7 Y ..
B I e \ \ A19/0004-D... g
o =—<_ N\ AL/00... e,

3 \}“-f ...-Drain

N
AL/..-OUT

= :
IS

Y
%
‘VSG/ESG
GS/16.76...

HEaesen®)

= AL/003...




[

ALUMINIUM

ALUMINIUM

satin

satin

satin

H M
| [
|L_J ALUMINIUM  =atin

e

L

ALUMINIUM

ALUMINIUM 11|

ELOX

INOX

ELOX

INOX

ELOX

ELOX

INOX

ELOX

INOX
ELOX

INOX

ELOX

ELOX

AL/0004-1250-5-E
AL/0004-2500-5-E
AL/0004-5000-5-E
AL/0004-1250-S-VA
AL/0004-2500-5-VA
AL/0004-5000-S-VA
AL/0004-2500-N-B
AL/0004-5000-N-B
AL/0008-2500-S-E
AL/0008-5000-5-E
AL/0002-6000-5-E
AL/0002-8000-S-VA
AL/0012-2500-S-VA
AL/0014-3000-S-E
AL/0014-6000-S-E
AL/0018-3000-5-E
AL/0016-6000-5-E

AL/00086-1250-5-E
AL/0008-2500-5-E
AL/0006-5000-S-E
AL/0010-6000-S-E
AL/0010-6000-S-VA

AL/0005-1250-S-E
AL/0005-2500-5-E
AL/0005-5000-5-E
AL/0005-D-2500-S-E
AL/0005-D-5000-S-E
AL/0009-2500-5-E
AL/0009-5000-5-E
AL/0003-6000-5-E
AL/0003-6000-S-VA
AL/0007-6000-S-E
AL/0007-6000-S-VA

AL/0011-1250-N-E
AL/0011-2500-N-E

AL/0011-5000-N-E

AL/0013-6000-N-E

AL/0015-6000-N-E

1250

2500

5000

1250

2500

5000

2500

5000

2500

5000

6000

2500

3000

6000

3000

6000

1250
2500

5000

6000

1250

2500

5000

2500

5000

2500

5000

6000

1250

2500

5000

6000

12-21,52
1kN

21,52-25,52
3kN —

12,76-21,52
1kN ——

17.52-21,52
1kN :
1kN 17,52

-

2kN
1kN 12-21,52

12,76-21,52
SkN | e——

12-21,52
TkN e—
21,52-25,52
3kN —
1kN
12,76-21,52
I
3kN
12-21,52
1kN
1kN
12,76-21,52
N
3kN

7,6

6,7

3.9

4.8

7.6

10,5

7.6

3.9

4.8

7.9

13,6

11



12

glass t
i

@14
ALLIAY s LA LI b Y S
R —" 200 3

0 1 =

AL/0004-1250-S-E 1250

ELOX AL/0004-2500-S-E 2500 50 AL/0004.. Drain
_ AL/0004-5000-5E 5000 100 AL/0034...
satin f AL/1334.. A%%%T'bm
AL/0004-1250-SVA 1250 AL/1734.. s

1kN 12,00-21,52 A19/0004-...
INOX AL/0004-2500-5-VA 2500 50 -

AL/0004-5000-S-VA 5000 100
AL/0004-2500-N-B 2500 50
AL/0004-5000-N-B 5000 100

ALUMINIUM

glass
-ty

STATIC STUDIO

o4
2

00

U 1
AL/0008-2500-S-E 2500 50

ALUMINIUM satin = ELOX 3kN  21.52-2552 A19/0004-... AL/0038... - #
AL/0008-5000-S-E 5000 100

glass t
A

aboratories

L | Applus®

1245

I 7 =

ELOX AL/0002-6000-S-E
: / 8000 75 1kN 12,76-21,52 AL/0002-... AL/0032... - AL/0002...Drain

ALUMINIUM  satin
INOX AL/0002-6000-5-VA

ew
Hew



glass t
= »

120

r{

(o l: D L

1kN  17,52-21,52 A19/0012... AL/0034-012-S-VA

Black Black
. Fix.

17,52 A19/0012-018-02.5 M/ XSey |

0
21,52 A19/0012-022-02.5 HueW/ !

AL/0012-2500-S-VA
,,// \\\\
B

.- - A19/0012-pin...

PYEERIN satin | A19/0012-pin 30 8 | mew




18

LUMINIUM =atin  ELOX

17,52

14

o @13
VE 28I .
/XIII///// //1|I’
L1 e 250 H
= L.
AL/0014-3000-S-E 3000 BE Ak | et
0014-6000-S-E 6000 Mew
ﬁoms—am o 17,52  A19/0014-018 AL/0034-014-SE ew
125  2kN
AL/O016-8000-S-E 6000 e
+2 7°
A B C
1
7pcs/3m
13pes/6m
Black / Transparent White Transparent
D E

3000 IA19/0014-018—03.0 MW

6000 ‘A19;ou14-o1a-os.o e

Satin - ELOX

28pcs/3m
52pcs/6m

White




45
glass t

LGARY
tested
L
“ | STATIC STUDIO
q & III|
) N \ /
g f
[}
N N \
3 \
: @14 i \
e SEENNE) L7 i
70,2 ! J L1 . 200 i
N 95
eer| ) L 1 w— | |
' AL/O006-1250SE 1250 '
i ] AL/0034-_.  AL/OO06.IN
ALUMINUM satin  ELOX AL/0006-2500S-E 2500 S0 1kN 12,0021,52 A19/0004-.. rfoosc GVARTRE- e - = o
AL/O006-5000-S-E 5000 100 Tof
|ALUMINIUM  =atin  ELOX AL/OOQG-ATYP rae. Y4B
46
lass t
= Arplus®
laboratories
L 1
_Tw = I|
q B
q B |
uy |
g N /
: \ |
\
. \ |
\
h{’\\ @14 Jll
<IN X ,_R_i'_‘: 3o R R S
10 A L1 250
< 21 =
"Xegy ] l 1 »—a | |
_ . ELOX AL/0010-8000-S-E . AL/0038- . . e
| ALUMMNIUM sah_n. NOX AL/00106000Sya ©000 125 KN 12762152 A18/0002-.  JYo0ic AL/0049._. ew

15



glass |
oot

LGARY
tested
% L
2 |
7 I " ) - , STATIC STUDIO
vl
7
7 H
-
\ vz L /

J = == [

AL/0005-1250SE 1250
. : A/6920-005
ALUMINIUM =atin ELOX AL/O005-2500-S-E 2500 125 1kN 12,00-21,52 A1S/0004-.. i}jgggi" Ai%?)%gS'blﬁT y A; i

AL/0005-5000-S-E 5000 1o

glasst
tested
L ]
" 250 . \ STATIC STUDIO
1
|
i & Il
= A 3,
g =t ff:\ ; :ﬁﬁ:\; {
? e & |
1
\
@ \
2
II
)
o . S— f/
oe D 1 = L ®
. AL/0005-D-2500-S-E 2500 AL/0034-005-D... AL/0005-D..IN AL/0005... AL/0044.. e
ALUMINIUM satin = ELOX 125 1kN 12,00- 21,52 A19/0004-... / ;
_ el AL/0005-D-5000-S-E 5000 ? - / AL/0035-005-D... AL/OD05-D..OUT  Drain  A24/0005.. 4vei/
STATIC STUDIO
: L
L L o 150 5
@
. &
."'Ixﬂa-r-: ). D 1 - - L .
" . AL/0009-2500-5-E 2500 50 3
ALUMINIUM satin | ELOX -/ an 212 A19/0004-... AL/0038-004-S-E - - A24/0005-007
AL/0009-5000-S-E 5000 100 25,52 |

16



Arplus®

laboratories

L L2

P TS

124,5

I 7 =

ELOX AL/0003-6000-S-E _— o
1 ...uramn
INOX AL/0003-6000-S-VA AL/0032- .
FLOX AL/0007-6000-E 020 12,76-21.52 A19/0002... AL/0043..
: / 75 150 3kN AL/0035-... AL/00O7..Drain
INOX AL/0007-6000-5-VA

ALUMINIUM  satin

444

"
T

tested

STATIC STUDIO

120

)

-
200

//22////7///7/////7/7/4

85
%

L1 200

I
fe
m

e e

AL/0011-1250-N-E 1250
ALUMINIUM |~ | ELOX AL/0011-2500-N-E 2500 50  1kN  12-2152 A19/0004. AL/0034-. A‘E‘;{)%?P"SUT AL/OOAT. .
AL/0011-5000-N-E 5000 100

Arplus®

. L laboratories
) o
8
w
o p— e L2 J
® 1

S0E TN |  AL/OOI3E000-NE . . 150 300 KN .. .0 atgi0002 AL/O013-...Drain oo new
' AL/0015-6000-N-E 100 200 3kN : AL/0015-....Drain e

17



18

ELOX AL/0004-S-E-Drain

ALUMINIUM  satin

INOX AL/0004-5-VA-Drain

AL/0004-1250...
AL/0004-2500...
AL/0004-5000...

ELOX AL/0002-S-E-6000-Drain
INOX AL/0002-5-VA-6000-Drain

ALUMINIUM  zatin

204

ELOX

ALUMINIUM  satin = INOX

ELOX

AL/0041...

AL/0041-2500-S-E
AL/0041-5000-S-E
AL/0041-2500-5-VA
AL/0041-5000-S-VA
AL/0045-2500-5-E
AL/0045-5000-5-E

482 |

6000  AL/0COZ...

202

.
e 49 N

AL/0045...

.1
o
u

2500
5000
2500
000 AL/0OT1...
2500

5000

e

Mew
Mew

AL/0004-... ~

AL/0004-...Drain”

e




PVC

1224

T
v

45 |

gray A24/0005-007

47

-

2500 AL/0005-D.. fve/

AL/0005...
AL/0009...

Q9/03-0,2x9

AL/0005-D...

A/6920-005

H
U

2500 AL/0005...

v

=atin  ELOX

122

ul
i
==

AL/0044-2500-5-E
AL/0044-5000-5-E
AL/0044-2500-N-B
AL/0044-5000-N-B

2500
5000
2500
5000

AL/0005-D...

11§



14

ELOX AL/0003-S-E-6000-Drain Anew
. AL/O003... , oo
UMM oot NOX AL/0003-SVA-8000-Drain ew
S#0 - £loX  AL/0007-S-E-6000-Drain AL/OOOT e
INOX AL/0007-S-VA-6000-Drain o AneW
S
«
o
G
[ P —.
ke 474
AL/0043-5-...
il
I
ELOX AL/0043-S-E new
. INOX AL/0043-5-VA AL/0003 Aew
ALUMINIUM  =ati 6000 v )
" ELOX AL/0043-D-S-E AL/00OT.. new

INOX AL/0043-D-S-VA Mnew



1295

| ELOX AL/0013-N-E-6000-Drain AL/0013... e
| 6000
| ELOX AL/0015-N-E-6000-Drain AL/0015... el

>
]
4w

234

v —tey
46 N|

k-

AL/0042-6000-5-...

ELOX AL/0042-6000-S-E

INOX AL/0042-6000-S-VA AL/0013
6000 =

ELOX AL/0042-6000-D-S-E AL/0015...

INOX AL/0042-6000-D-S-VA

ALUMINIUM  =atin

I

6000 AL/0D10...

=

ELOX AL/0049-S-E

ALUMINIUM  satin
INOX AL/0049-5-VA

A

AL/0010

AL/0049

21



il

-
&i
z
2
=

22

Material

Finish

Effact

ELOX
INOX
ELOX
ELOX
INOX

AL/0034-004-5-E

'AL/0034-004-S-VA  AL/0004..

| AL/0034-004-S-EB new
| AL/0038-004-5-E  AL/000B.. |/
AL/0032004SE 000, W
| AL/0032-004-S-VA hew

AL/0035...
AL/0033...

AL/0034...
AL/0032...

Material

Finish

Effect

ELOX

ELOX

ELOX

INOX

art. M

AL/0035-005-5-E

AL/0005...

|AL/0034-005-SE _
| AL/0034-005-D-S-E AL/0005D... -
AL/0038-004-S-E  AL/0009...

AL/0033-0055E
AL/0032-005-S-E  AL/0003...
 AL/0033-005-S-VA  AL/0007...
|AL/0032-005-5-VA

|

1141

Material

Finizh

Effact

ELOX

art.

AL/0034-011-S-E

AL/0001 ...

Material  Finish Effect

ELOX

INOX

ELOX

INOX

Material Finish Effect

ELOX

ELOX

INOX

| ew

left

art.

AL/1334-004-S-E-Left

| AL/1334-004-S-E-Right |
(AL/1334-004-S-VA-Left
AL/1334-004-S-VA-Right

12,76

AL/1734-004-S-E-Left

| AL/1734-004-S-E-Right
| AL/1734-004-S-VA-Left
| AL/1734-004-S-VA-Right

art

AL/0034-006-S-E
AL/0035-006-S-E
AL/0039-006-S-E
AL/0038-006-S-E
AL/0039-006-5-VA

' AL/0038-006-3-VA

16,76

AL/0034...
AL/0039...

~ AL/00A0...

'AL/000A4...

S

8



art |
AL/0004-S-E-90-IN
AL/0004-5-VA-90-IN 218
'AL/0004-N-B-90-IN ew
AL/0004-IN-ATYP |

an L
AL/0005-S-E-90-IN | -
AL/0005-D-S-E-90-IN Hew

AL/0005-IN-ATYP

m
]

et art 1

ELO! AL/0008-S-E-90-IN 220

art

AL/0011-N-E-90-IN 194

Material

arc
AL/0004-5-E-90-OUT
AL/0004-5-VA-90-OUT
AL/0004-N-B-90-OUT
AL/0004-OUT-ATYP

Finish

Effact art

ELOX

AL/0005-S-E-90-0UT

AL/0005-D-S-E-90-0UT

AL/0005-OUT-ATYP

1

Effect art

El

LOX AL/0011-N-E-90-OUT

260

242

23



24

Glass t
(mm)

12

12,76

16,76

17,52

20,76

21,52

Glass t
(mm)

21,52

25,52

Glasst
(mm)

12,76

16,76

17,52

20,76

21,52

L
(m)

25

25

25

25

25

25

2.5

25

2,5

25

25

25

(m)

2,5

25

2.5

25

L
(m)

...

FIX-SET
(pack)

A19/0004-012-02.5
A19/0004-012-05.0
A19/0004-012-25.0
A19/0004-013-02.5
A19/0004-013-05.0
A19/0004-013-25.0
A19/0004-017-02.5
A19/0004-017-05.0
A19/0004-017-25.0
A19/0004-018-02.5
A19/0004-018-05.0
A19/0004-018-25.0
A19/0004-021-02.5
A19/0004-021-05.0
A19/0004-021-25.0
A19/0004-022-02.5
A19/0004-022-05.0

A19/0004-022-25.0

FIX-SET
(pack)

A19/0004-012-02.5
A19/0004-012-05.0
A19/0004-012-25.0
A19/0004-017-02.5
A19/0004-017-05.0
A19/0004-017-25.0

FIX-SET
(pack)

A19/0002-013
A19/0002-017
A19/0002-018
A19/0002-021

A19/0002-022

(black)

A19/0004-rubber F-...

AL/0004-...

A19/0004-rubber F-...

—

A19/0002-rubber F-...

AL/0002-...

+

+

+

A19/0004-L +

Profile types
AL/0005-...
A19/0004-L +
AL/000QO-...
A19/0002-L +

AL/0003-...

A19/0004-plast...

A19/0004-plast...

A19/0002-plast..

(black)

+ A19/0004-rubber...

+ A19/0004-rubber...

+ A19/0002-rubber...



A19/0004-F-G-02.5 25

Rubber gray A19/0004-F-G-05.0 5

A19/0004-F-G-25.0 25

Interiér/ Intarior

/b o
black A19/0004-D-B
PVC 100

r

gray A19/0004-D-G

12.21,52

12,00~
21,52

AL/0004
AL/0005
AL/0006
AL/0008
AL/0009
AL/0011

AL/0004...
AL/0005...
AL/0008...
Al/0008...

AL/0009..
AL/0O11...

VsG

VSG

hew

g

A19/0004-17-18-G-25.0 25

Interiér/Interior

A19/0004-17-18-G-02.5 2,5

#€W/ Rubber gray A19/0004-17-18-G-05.0 5

16,76-17,52

GS/16,76-100x40-VSG/ESG
GS/16,76-100x50-VSG/ESG
GS5/16,76-100x60-VSG/ESG
GS5/16,76-100x70-VSG/ESG
GS5/16,76-100x80-VSG/ESG
GS/16,76-100x90-VSG/ESG
GS/16,76-100x95-VSG/ESG
GS5/16,76-100x100-VSG/ESG
GS5/16,76-120x40-VSG/ESG
GS5/16,76-120x50-VSG/ESG
GS5/16,76-120x60-VSG/ESG
GS5/16,76-120x70-VSG/ESG
GS5/16,76-120x80-VSG/ESG
GS/16,76-120x90-VSG/ESG
GS5/16,76-120x95-VSG/ESG
GS5/16,76-120x100-VSG/ESG
GS/16,76-120x110-VSG/ESG
GS5/16,76-120x110-VSG
GS/16,76-120x110-VSG-orange
GS/16,76-120x110-VSG-grey

GS5/16,76-120x110-VSG-black

16,76

16,76

16,76

1000

1200

1200

AL/0004
AL/0005
AL/0006
AL/0008
AL/0009
AL/0011

500
600
700
800
900
950
1000
400
500
600
700
800
900
950
1000

1100

1100

i

25



|

M
il

WSTE
R

o =
L

T

26

AL/glass-mont

AL/0002-...

AL/0004-...
AL/00OS-...

AL/Q012-...
AL/0014-...

AL/0016-...
AL/00O5-...

AL/000Q9-...

AL/0003-...

~ AL/0O0Q7-...

AL/00QE-...

AL/0010-...

AL/0011-...

AL/Q013-...

AL/Q015-...

6000
1250
2500
5000
2500
3000
6000
1250
2500
5000
2500
5000
6000
6000

2500
5000

6000

1250
2500
5000
6000
8000

Q5/08FH12-50
Q5/08-FH12-50-B
A14/08-FH12-50

40x
7x
13x

25x%

10x
20x
17x
33x
24x
40x

Q5/06-12x118CE

13x
12x
24x

13x
25x

24x

7%
13x
25x
20x
30x

A5/08-105x11xM3

40x
7x
13x

25x

Sx
10x
20x
17x
33x
24x

40x

Q5/01TK-300

1x
1x
2x

1x
2x
2%
3x
2x
3x




[Lﬂ AL/ZALVR100-2500-004 1000 2500 16,76 VSG/ESG Fuei/ U AL/ZALBR100-2500-005 1000 2500 16,76 VSG/ESG Faeil/

Mm AL/ZALVR100-2500-006 1000 2500 16,76 VSG/ESG FAei/ LU AL/ZALBR100-2500-011 1000 2500 16,76 VSG/ESG A€/

2F



28

AL/0004-...

AL/0002-...

AL/0006-...

AL/0010-...

AL/0008-...

1250

2500

5000

2500

5000

6000

1250

2500

5000

6000

L1

25

50

100

50

100

75

25

50

100

125

200

150

200

250

125

50

125

50

250



-

AL/0005-...

AL/0003-...

AL/0009-...

AL/0007-...

AL/0O11-...

AL/0013-...

AL/0015-...

1250

2500

5000

6000

2500

5000

6000

1250

2500

5000

6000

6000

125

75

25

100

150

100

250

150

200

200

125

50

125

50

125

50

-
£

250

250

29

uJ
:




i IUNU,[\ 1\'[!1

_—
S|
sy

dijel

Al 1148
II' ::::::

4
4
_.-_w
s ?I
-
—— \



FLEX MOUNT

FIX MOUNT

SQARE MODELS

DOUBLE ADAPTERS

DOUBLE ADAPTERS




B/OTAGEL EX]
A/O742-FLEX1
A/O747-FLEX1

flat

A/O747-FLEX1-B

30

40
>12

50

o>
- ’ h
A I 1
2l [ © o

. = : '

I_»'J-'_, Glass t
M8x40 6-12,76 13 15
M10x45 18 20
817,52 19,5 23
M10x130 17 20

>
h Glass t

8-18

A/0747-FLEX1-B

AISI304 [ A/0747-FLEX2
n 50 3555 Mi0x125 817,52 17 20
AISI316 A14/0747-FLEX2
(EELMY  cotin - flar  A/O747-501 FLEX2 50 4048 M10x40 817,52 25 30
: h | . Glasst
. ? = — .
LA Cel
S |0 L —
ToIE ft‘I a
. o ; &
. = —
¢ A/O742-FLEX3
o e h __l I__ Glass t
R v
", I I [
g ==
i oo
A/0747-FLEX3
A/0742-FLEX3 40 185 22
AISI304 [EETN 4048 M10x40 817,52
A/0747-FLEX3 50 25 30

@z

—

>12_




AISI316
ZAMAK |

AlSI304

A/0742-000

A/0747-000-S
A/0747-000
A/0749-000
A/0748-000
A/0747-000-L
A14/0747-000
ZN/0747-000

A/0746-000
A/0746-000-B
A/0746-300
A/0746-400
A/0746-500
A/0747-300
A/0747-400
A/0747-500

28/0788.000.F

A14/0746-000

 A14/0747-300

ZN/0746-000

A/0763-000
A/0764-000

A14/0763-000
A14/0764-000

Glaoss 1

M
o

40
50

50

60
70

50

30

50

30

S50
30

30
40
30
40

10

10

M10x100 18,5

M8x45

8-17,52

M10x45

M10x100 8-21,52 18,5

M10x45 8-17,52 17

Zeoin
1o

20

Glass t

| ?%Iﬁ%%
= H—F -——& ol O
= TS
TR P < =
M8x40
M8x40
M8x80 6-12,76 13 15
M8x80
MB8x80
M10x70
M10x90 8-17,52 18 20
M10x80
M8x40
NiElo 612,76 13 15
M10x70 817,52 18 20
M8x40 6-12,76 13 15
_h . . Glst
% . >
-1 e — —— =1~ °| O
FoN
D
6-12,76
8-17,52
M10x50 13 18
6-12,76
8-17,52

33

o



A/0746-033
A/0746-042
A/0749-042
A/0748-242

A14/0746-042

A/0742-042

42 4 A/0747-242
A14/0747-242

MBx50
MBx40

M10x125
M10x80

MEBx40

MEx40

M10x40

Glass t
=




FIX

Glass t

—

D A/0745-300 ! 30 2
w satin | flt ot 00 40 25 MI0x100 817,52
i
)
& =
F
]
1}
0L
[EEZ] =atin  A/0745-D30

= a
L)
5% i
—-b_
L
S Bog. RGMS210 2 . 5 2 Mew
ac
42 35 e

RGM4210

16 18

A/0745-D30

A/0746-...

RGM3210

A/OT745-...

35



LET W
e
rio

10
8

A/0746-front
_ A/O747-front
A/0747-S-ront

satin
satin

3 2
< <t

; ©

& :

5 ) 2 g

0-|...zj = \“u”. \w.f’f 2

IS < ) NN

L \

A/0747-plate

A-DIN 7991-A2 M&x8

A/0747-plate
A/O747-front
A19/47-...

=

A/0746-plate MW
A/0747-plate new

A-DIN 913-...

satin

satin

AISI304
AISI304

36



o

2145

o

black A19/47-Black Fiki
white  A19/47-White / W

black A19/46-Black
white  A19/46-White

Rubber

A/O746-... m’ ‘ Rubber

EFEESEREREEE
oab ik A

L
~t .“,5

(S 3 L

A-DIN 913-A2 M8x22 22 | Aeil A-DIN 9210 M8x60-A2 8 60 20 37 Hew
A-DIN 913-A2 M8xB80 & 80 m ) A-DIN 9210 M10x100-A2 10 100 30 57 m
A-DIN 913-A2 M10x35 P 35 |HeW
A-DIN 913-A2 M10x100 100 |FAEW

e —
!

| A19/27-M8 8 11
AISI304 B EY A19/model741-8 AISI304 B FTE / 140 15
| | A19/27-M10 10 13

B il

GS/16,76-130x100-VSG/ESG 1300 4x20 75 75 MW

. GS/16,76-98x100-VSG/ESG 980 1000 16,76 Al
4x25 925 925

GS/16,76-133x100-VSG/ESG 1335 e

37



EEEE =atin A/2740-000

EEEZ] =atin | A/2747-000

M ‘satin  A14/3000-000

38

@11

G5/16,76-13...

=
—

b

G5/16,76-13...

. A/2746-000 plate T10mm 40
A/2747-000 plate T1IOmm S0

150
H

142

T

8-17,52_
_r
ma
A TS Sl ‘_ﬂ“!
Ay
o
i
0. ‘
— 4 —
8-17,52

It

10
20
10
8-13,52

&

=

< O

N —
o~ o
a0 w

®

o
] o~
b (. =




L4

art h L glass t art. h glass t
GS/FREB-130x100-16,76-747 1000 1000 16,?6VSG/ESG”\0J f GS/FRBB-13

0x100-16,7-2747 1000 1000 16,76 VSG/ESG e

|
|ﬁ art. h L glass t art. h L glass t
‘ GS/FRE8-13

0x100-16,76-745 1000 1000 16,76 VSG/ESG Fvel GS/FRB6-130x100-16,7-2740 1000 1000 16,?’6\.I"'.SG/ESGE»"'\JOW|I

39




1. 3 SPIGOTS




FLEX MODELS

FIXMODELS

SQARE MODELS

ROUND MODELS

POSTS



STATIC STUDIO

H i
q ///////// %5’5 ,
i
: g 01 .
¢ [l
U] | m
e m .
D = 81 _
3) 1 & ; }
= — ¢ : .
A 4[] ; i
! = 8 < | k
@ 2 | ﬂ, = ‘ \ - |
iw ” \ WI_-. \ |
WM r %M_ o ) |
o _ RB_ :
T
m z

A/6200-000-C
A14/6200-000-C
A22/6200-000-C

satin

AISI304
AISI316
2205

S.S

12-17.52

TkN

A14/6100-000-B

A/6100-000-8

AISI304
‘satin
AISI316 in

42



AlSI304 |

Alsiais B

A/6200-000-B

A/6200-000-B
A/6100-000

A/4511-050
A14/4511-050

GLASS t

GEASST e

bxa ‘

h1

|
|
@
D
A/6100-000
186 81 66 100x100 40 35 12 4xi1 1kN
12.17,52
162 61 65 100 49 49 12 3x9
o525
- o
[ = |
| o105 |
op: SYB200000C AISI304 | A/0512-050
A14/6200-000-C M. otin
AlSI316 | A14/0512-050

22 A22/6200-000-C

Q9/03-0,2x9
Q9/03-3x12

88

A/B100-...

hew

A14/6100-...

43




44

GS/FRB-103x120-6200

1030 1200 16,76 VSG/ESG e/

GS/16,76-100x40-VSG/ESG
GS/16,76-100x50-VSG/ESG
GS/16,76-100x60-VSG/ESG
GS/16,76-100x70-VSG/ESG
GS/16,76-100x80-VSG/ESG

GS/16,76-100x90-VSG/ESG

GS/16,76-100x85-VSG/ESG
GS/16,76-100x100-VSG/ESG
GS/16,76-120x40-VSG/ESG

GS/16,76-120x50-VSG/ESG

GS/16,76-120x60-VSG/ESG
GS/16,76-120x70-VSG/ESG
GS/16,76-120x80-VSG/ESG
GS/16,76-120x90-VSG/ESG
GS/16,76-120x95-VSG/ESG
GS/16,76-120x100-VSG/ESG
GS/16,76-120x110-VSG/ESG

GS5/16,76-120x110-VSG
GS/16,76-120x110-VSG-orange

GS/16,76-120x110-VSG-grey

GS/16,76-120x110-VSG-black

GS/FRB-103x120-6100

glasst

1030

1200 16,76 VSG/ESG

16,76

1000

400
500
800
700
800
900
950
1000

16,76

16,76

1200

1200

400
500
800
700
800
900
950
1000
1100

1100




8-17,52

P24 __ 3
p!
10 o
.
Ly
[ Ly o
( &
i Eil
I !“'_-\ ("_')
| =
T
| @105
m ~zatin  A14/6300-000 GS/16.76-98x100-VSG/ESG  Fuail/
8-17,52 & 8-17,52
040 o 140
=]
32
3 3
I W (o]
o [
[35] Bl [ae]
D
a2
|.D96_|
1 A/6400-040-plate GS/16,76-... new

1000

980

925 295
:_[:- 1—-;‘/
150
] "J[Qz,s

. GS/16,76-98x100-VSG/ESG 16,76 | eEW

45






@42
@ 48
@254

80x40

40x40
60x40
29,4x21

18x12
22x9

22x16
26x20
28x26




\,

48

A/0920-043 5000 i
AISI304 A/6925-042-1250 1250
a8, regos043 2500 o
A14/6930-042 5000
AISIZ10
polish  A14/8920-043-L 5000
_,\-4.-
.'.'
|@az.4x1.5
!
AIS1304 A/GT32-042
P %
AISI3T0 A14/6T32-042

A/0313-042

A74/6313-042

AEI304 A/8303-042

aatin

A14/8303-042

A19/5043-008 2300
2 A19/7042-208 8,0-11,0 = 000
A19/5042-011 - 2500
ber  black 219/3042211 MEEE A5 e
R &
A19/5042-010 2530
-
A19/5042-216 1B 000
A19/85042-022 2500
20,0-21.5 4,2
A19/85042-223 e ; 5000
Rubber A19/5042-5-010 P A
interier  9T8Y 16,0-17,§
A19/0042-G-210 sooo e
B
S
¥
| @ az,4x15
¥
.'!
Aj6505-042 oo
A14/0505-0432 83
(30,
~
1
| @ azax 5



| Aj6302-042 A/0312-042

L A14/6302-042 Al4jaa1z-042

\ @ az4x1,5
k)
4 A/OTI0-042 Ea—;fn e A/OT2T-042
. A14/0790-D42 - B14/0727-042 AEW

49



50

AL/G920-044
ALUMINIUR <
AL/G923-044
2
3
o
F
E i
- /
[ ad
)
ALUMINIUM  g8tin AL/GT32-D44

Rubber

Rubber
interier

a0

Fubber
interier

black

gray

A19/5042-008
A19/3042-208
A19/3042-011
A19/3042-217
A19/5042-010
A19/3042-218
A19/3042-022
A19/5042-222
A19/3042-5-010
A19/05042-G-216

8,0-11,C

1,5-13,5

16,0-17,5

black

gray

A19/5042-008
A19/3042-208
A19/3042-017
A19/5042-211
A19/3042-010
A19/5042-210
A19/3042-022
A19/5042-222
A19/3042-5-010
A19/3042-5-216

8,0-11,0

1,513,5

16,0-17,5

20,0-21.5

16,0-17,5

4,5

as

2500
sooo
2500
5000
2500
so00
2500
5000
=500 EW
sooo e

2500
5000
2500
s000
2500
soao
2500
5000
2500 S/
sooo e



7.5/

24
. . 24 N
r Tz
A19/5042-008 2500
8,0-11,0 5
; A19/5042-208 2 5000
| WB/0925.042 Sl £19/5042-011 ~ 2500
] 8-21,5 2500 L A19/5042-211 5138 45 shoo
| WD/0325-042 A19/5042-010 2500
16,0-17,5
A19/5043-218 5000
A19/5042-022 2500
20 0 o
Al9/o042-222 208205 o4, 5000
Rubber A19/5042-G010 =500 S
% 2! gray 16,0-17,5 m
interier A19/5042-5-216 5000

(NEUTRO [}
o ‘! ] i

< - Q5/03-3x12 GB/OATR-310
| WE,/0/925-042-8tyD Ear-y
1 822 2500
| WD/0925-042-8tyD el

51



b

PALTLGEY  satin A/O732-048

& 48,3x1,5

4

ul- 4/06313-048

52

2l
A19/5048-008

/ 8,0-11,0 2300
A10/5048-208 S000
ALY - 5135 00

A19/5048-211 s
A'IB::MGIEI i
2500

15,0-17,5
A10/5048-215 S00D
A19/5048-022 2500
A19/5048-222 b e R s



at | A14/0803-025 S

e A et

Eh

=
=
i
5
k=
L
-
- -

53



o4

1.5
C
Mo
=11l
L
—24
.qJL..
&/0920-040 5000
AISI304
satin | A/6025-040 2500
AISI310 AT4/0920-040 5000

A/6T32-040
- zatin
A14/6732-040

A, 5

AISI304 | AfOT20-040
S =atin
ASI310 A14/0790-040

£19/5043-008
£19/50432-208 8,010
£19/5042-011 s

oiack 1275042211 i
£19/5042-010
£19/5043-216 ki
£19/5043-022 I
A19/5042-222 e
£19/5042-G-010

B8 pigimgazgois  EHTS

CR

AISI304 | A/6505-040

AISEY10

A/0313-040
satin
AISI30  A14/6313-040

24

4,5

4.2

(U0 asfin @ A14/0372-040

B At

24|

2500
S000
2500
S000
2500
S000
2500
S000

sooo



401,55

Aot 5=
. =

CVSE N zatin A14/0303-040 cat-
400, 2/AL
4
1
=N
1%
b
=] X
—_ 24 —_
— m —
A19/5042-008 2500
B,0-11,0 s
AL/6925-040 3000 il AR08 s000
— . S A19/30432-011 hgey o 2860
AL/0O20-040 6000 Feilf A19/5042-211 it ! 5000
Aubber  blsck :
A19/5042-010 2500
1
£19/5042-216 IHEEL S e
A19/5042-022 <o , 2500
Al2/5042-222 2OEE A2 oen
e £19/8042-G010 zso0 AW
interier gray 16,0-17,5 _
e A19/5042-G-216 spoo e

a8/ 03-3xld O5/O5TR-210

i
14{'
24 HEUTRO Ll
b rr
LR

- L

| WE/0925-040-typ

| g2z 2500 EW
| WD/ 0925-040-atyp il

o5



\,

56

1.5]
24
w24
- L= L
A/0D20-640 5000
£/0925-040 2500
W
A14/0920-040 5000
A14/8025-040 3500
30
BOx40x1,5
AISI304 . A/aT3z-040
zatin
L B14/6732-840 N ald
:
GOX40%1,5
| A/BT90-040
=atin
AISIZ10 - A14/0T90-040 Sl

Rubber

Rubber
interier

black

gray

A19/5042-008
A19/5042-208
A19/5042-011
A19/5042-211
A19/5042-010
A19/3042-216
A19/5042-022
A19/5042-222
A19/5042-G-010
A19/05042-G-216

8,0-11,0 5
11,5-13,5 4,5
16,0-17,5
20,0-21.5 4,2
16,0-17,5
Emed0nt, 5

8/0313-040

A14/0313-640 Fudil

2500
5000
2500
s000
2500
5000
2500
5000
2500 i
sooo el



:

21
—%
1.-4! sTR-3
v
14 a9/o03-ax12 e =
ok
L_ ‘A
A 2500 e
e e
Al4fo920-223 G
95 4T xt 2
HuEW

. AT

25, 4x21x1.2

13

i

25 4x1x1, 2

25,4x21x1,2

o R
o7




58

&4

KAE
H ]

.18 ]

: AL/0901-014-3000-5-E 3000
 mafin | ELOX

B E ) Y

AL/6901-014-6000-5-E =14
G000

Blsck AL/ G901-014-0000-N-B eW

S|
gﬂj*—ﬂ;ﬂi

| o214 |

AL/@901-017-3000-5-E 3000 Al

<17
AL{6901-017-0000-5-E 6000 Heu

- i
Q9,/03-3x12 @I/ 08TR-210
EC
by, 2p
Q9/03-1x12 G8/08TR-310




|
—
= |
| ~¥|
|1
22
2 |
£/0901-018-2300 il -
- =15
A/0901-016-5000 e
satin .
AL/0901-018-3000-5-E 3000 tof
| ELOX
ALUMIMILM AL/G901-015-0000-5-E <18
- 000 e
blscs AL/0901-018-0000-N-B ;
2Bx20x2
o4
1
i |
!
L 2% |
| s 1 — -
AL/B901-022-3000-5-E 3000
. satin  ELOX
ALUMINIUM AL/0901-022-0000-5-E o
- 000
] v mommorssrons o
28x26x2
o4
1
—
=i
L
L1
L 2% _
AN, 2500 F W
 A/ososo0zo 5000 SR
890 <o v '
ALAEIGRC 020 3000 el
ALUMINIUM |
O Sea 5000
Fubber
interier

L

13
a9 Ix T2
e G5/05TR-310
1]
= - QS/0STR-310
h
4
24|
s 1w
ity

A15/5042-008 8,0-11,0 5

A19/5042-208 o pes

A19/5042-011 5 PR

olack  A19/0042:211 15185 49 snoo

ac

£19/5042-016 16,0-97,5 iy

A19/5042-210 — e

A19/5042-022 s
A19/5042-222 2B0AS 42 - codn P
i AN L e — el
P migjsosza2ie o -

59



-

e

P NNECIIORS

5 i ———

——— ]
— B o -



o077

R - L
B
p—
Fm
i |
&)
L ¥- I R
-]
= 4 P - S
- - 1 1
= =3 1
=
i !
4 i (]
a
=

7 3-20 5%
©

14722152

1
L. 48 ATl #
L 105 | ;

bor

L0 E  estin | A14/0772000  16,76- 21,52 gl

143

poetc| ;
» 4 )
{ I i ¥
A Ak |
il
——— PO = - - r
o 5
=X

@ satin A14/0774-000 16,76- 21,52 Gl =

&1



AN T " - f

A79,/04-PYC

A14/230P-TDOD ix

glass t
6 6,76 a 8,76 10 10,76

A18/23-PO6 ATB/23-POT A18/23-POB A19/23-P0B A1S/23-P10 A8/ 23P1

A19/04-PNC
AISI3T0 .I

A4/ 230P-200 1x

gissat
5 6,76 8 5,76 10 10,76

A1B/23-POE A18/23-PO7 A19/23-P0S A18/25-POB A18/23-PI0 A18/23P11

A/OTAGTONt  A/OTA5-D30

&-DIN 973 M3

62

§-12.74



a-107a

plate t glasat
1,5 2 2] 5 5,76 10 10,76
A18/22.0015 A1D/22002 A16/22.003 AT9/20-008 A19/22000 A19/22-010  A19/22-041

glasa t
8 B.TE 10 10,76
A10/22.0015 A18/22.002 A18/22-003 A19/22-008 A16/22-000  A19/22-010  A18/22-011

1,5

BSOTAT-front .n.,.rlp?-t?-rmm

A-DIN 973 M0

8- 1074

63










2 E 1 gIA-ﬂ_?I'?G

2 HORIZONTAL
L RAILING

2 VERTICAL
| RAILING




2.4 FiCohes

FRENCH
= BALCONIES

p-



2 o 1 gkﬂ_?l\sl’G




-

ASOTIE-242

L)
e 4x

A/2200-042

@ -

A18/22-008

@424 |

B2 ax2

&\

69



8,76

AjOT1B-242

:

)




8,76

A-BRIDD-AG
A-BE100-4G
A-BRIDD-AGO0-IN
A-BRIDD-4GS0-OUT

a2 a
1

1ROQ
558

Y

71



250P/1000-D42

ASOT1B-242

®
@ -
-—

A

g B2 2

-

=

:

@

M)

2
¥

A/D512-042 2

p A=
&

W
/09400421 ViR
m setin = 576  A-VRI00-2G-250P
ana,
e
1x |
AN

AfOT18-243

-
1'\__]

L

B4 dxd

—— A-VRI100-4G-250P
5,76
A-VRICD-4G20-230P
72

AS0B40-042-M



250P/1000-D42

AjOTIB-242
L
2x
-
A/250P-042

& -

A18/25009

‘ AB/O21-6-A..
' ® -
GL AJ5T20-243..

L A-ER100-2GR-250P
satin &,76
s A-ER100-2GL-250P

A18/25-009

' 1‘,:

Af42 4x2

AB/D21-6-A .

® -

4G ASST2O-242

m sgtink @ 5,76 A-BRI100O-4G-230P

flens)

.

peals}

Y

o T2 D

447

&\

73



22/1100-D42

A-VRTI0-2GR
FUAEGEY  aatin 8,75
ChE A-VRT1D-2GL

ANRIN0-4G
satin @ 5,76
ANRI10-4GI0
74

AJOTID-242

ASOTIB-242

*
@ -
A/2200-042
E -

A18,/22-009

AJAZ A

——
-

ASDS12042

& -

A/0840-042-N

D42 ax2 L

B




22/ 1000-400c20

GRH

PUoELEY @atink 5,76

AJP-NRIOO-2GR
AJPNRTOO-2GL

E42.4
-
D
—
§§ _‘.MZIMM
D
g

)

75



ATYP-SET

2]
I

B2 a2 i =
&

m A4, 4x2

‘ —-# ASDE12-042

fﬁ A/0940-042N

ATYP-SET-VROOD-2G 200 458

ATYP-SET-VR10:0-2G 200 242 > -
CEELEY  mstin | ATYP-SET-VR100-4G90 1000 358 - - -

ATYP-BET-VZ100-2G 285 257

ATYP-BET-VR110-2G 1100 200 858 242

76



ATYP-SET

- --'I)-“lI -
424 :
4 P } I--HI

2
a = 4T 4xd
T m ASAZ Ax2
,Q; AB/021-6-A
i A ST2D-242
———— g &

2GR 4G

. A s -
O= == =0

ATYP-SET-BS90/BR100-0G 200 242
AISEZ0S B 1000 558 110 &5 -
ATYP-SET-B3100/BR1T0-DG 285 257

-\



B ATYPINOX

0
]

o
b

D - 9 i |
I ' ' ASAT dud

— : "
- :j' AG/OZ1-6-A
} i e s
1 I\ “. - L—
o~ - gy ] o A/5720-242
1. ! - - I
S T " ¥
=3 S
igﬁ
=l O
2GR 4G 26L

AFSIE04

42 4x2  ATYP-INOX Af42 4-L

AISIZ16 ATYPINOX A14742 4

AISIZ04 ATYP-INOX A/40x40

AISI310 40040 ATYPINOX A14740x40
ATYPNOX WE/40x40

S0 ATYPHNOX WB/D30

S ATYP-INOX WD, D30

78



| Guosfity  Finin : BiL

1500 ix 2x
3000 1000 2 3%
6000 dx Sx

L o G5/8.T0 BR
1500 X 2x
3000 2x 3x

1000
B000 4x Sx
o . not assembled
OINOXINSTALL-SET
L =M1+ M2+ M3+ M4 = 4952
T2=111.2, s modul M1=a+2xT1 b M2 e M3 E M4 o

| GE/B,T0-10OXTE-VEG GE/B,7O-120xTHVEG | GE/B,T0-120xTIVEG GE/B.T0-ID0XT VGG
Guality o 5_::56 3—“ b pEast B 25T Mnf:?-i::s 2xT2 L=+ 20T 2
wn,r&msm 800 Too 7824 1004,8
GS/B8,76-100x75-VSG 1000 800 82,4 BE2,4 2224 1204,8
GS/B,76-110x75-VSG 1100 1000 10824 1304,8
8,76
GS/8, 76-120xT5-VSG 1200 Iﬁf\- 1100 1182,4 14048
GS/B,76-120%7 5-VSG-MILK 1200 750 1200 12624 1504,8
. GS/8,76-70x75VSG/ESG 700 A ' '
- GS/B,76-80x75VSG/ESG 800 dneil
veornee [ETCPRE = gt
VSG(ESG 1000 i
VSG(ESG 1100 e
VSG/ESG GS/10,76-120x75-VSG/ESG 10,76 S

79






d12/900-D42

ASDBEI0-DND.

D402 |

ASOSI2042

AS0RAC-042-4

X A-VRO9O-4D12
aatin
ANS90-4D72
. A-NROO-4D32-L
polizh
A-NS90-4D72-L
- f 1 L
P42 4 =%
I Y -
X . i |
] 2
qf 1
1x ﬁ & | 1 |
] 4
ASDTIEF2AZ... 1
4
& - q
ArOB30-D4Z... 912’&
8 —
' e ol mazan 5
i 'E. I
RS2 AuT.. iﬂ ? ﬂ
i
T 1x ] 2 .
—._____-E s |
1 1
o 1
AB/O21-8-A 2 iy
I
‘-:'\-lq_--‘
D - J
=
AJSTIO-242. .31 o
.
_ A-BRSC-4D1Z T
satin
A-BS90-4D12 BES
AFSE04
: A-BR2C-4D72-L
polish
A-BS90-4D12-L

a1



82

d12/900-030

natural

A8/ BDx5-M18

WE-VROD-4D12
WE-VS20-4D72

a4l

E12 | g

i
T
| 8
T '
w
g
L]
1




d12/1000-D42

T
1
1x
ASDTIE-242.. @
@ -
Ly
A/DEA0-02Z... g
i
i
Af4T,4uT... %
—
% 1x {'ﬁ =
=3 32
ASOEI2-042. 1 .
&
1x
h AM0940-042-H
. AWR100-3D12
- ANS100-5D12
. A-NRA0D-3D12-L
palish
A-NST100-5092-L

: 4 8
ASDEI0-04Z... g
]
1x
B
' G"z!-ﬁ
AS4Z AxT J 3
I - 8
1x b !
& LT

]
AB/O21-8-A.. H"[“'--. __‘_,-ﬂ-i"""-
D - Hiy 18
1A

AfST2B-242. 1

~p
. A-BRIOO-0D1Z [

ﬂ A-BS100-5012 ﬂ, \ [

a3



84

d12,/900-40x40

. AJPVRIO-4DI2

BJP-VE20-4D12

AJP-BERS0-4ADI2

. AJPBSS0-4D12

el St

242

B A SSOT
« I
1
g
¥ é
F—a
#
t ]
s Y
|E
et
TEI'"
| fs
BR



d12/1000-40x40

LS a
_— Lo
e
: oy i
4
L ¥
ix )
E
AfaTIE-042 @ =
o= i
dx
A/0B30-000 o2 :.,E
(]
Tx T e 1
————— -
#
A4 Twdond
L
ix - i
A/ 4515040
VR
& -
AJ4B40-040
. AJPVR10D-3D12
sslin | P-VS100-9012
| B i
™
42,4 3
e
Y 1
¥ {
I
I
£
4
g
ix g
4
AfaT18-042 8
& - i -
A/Ca30-000 | g SOmalad #
i
ix g
#
A a0l '-.r___--
ey
ix
g""-..___
A8,/005-4 i BR
. ) ﬁ"’
kN
AJ4732-040 'E" o
S
. AJP-BRIOO-SDO12
M . AJP-BS100-5D12

85



86

ATYP-SET/d,/900

w

m

ATYP-SET-VR9O-4D
ATYP-SET-VZ90-4D

ATYP-SET-BR90-4D
ATYP-SET-BES90-4D

AJAD dx2

ASDS12-Da2

A/0940-042-N

AfAZ Ax2

AE/O21-6-A

ASST2E-242

a2 42

3

£
s}

=]
Iér-,___\
LI
Ly
L-..l_]
S I -7 P |
-
8
Fo
'hq__h-‘-‘.h
o
™
-h""""-h..__
¥
BS

Fey
[




ATYP-SET/d/1000

@ -
Ty i
-
Y, | !
ah
4o
an
8
. )
g T
ASED du2 12142,4_::2_-_ e
d B
hc{:l i .
ASO512-042 ® E;‘j; 2
’...ﬂ-"'frr
A/ e VR
ATYP-SET-VR100-5D
ATYP-SET-VS100-50
o L
1
TR
—d
I.QL____
B
i
ﬂ
g
ﬂ
]
g
gl
ol g D322 @
=
& 4
B 1 e
T~ —
AfAD 4xD 4 ,ﬂLé
""!-..._ I

T
AB/D21-B-A

ASST20-242 e

87



88

Ll
i i
]
z
L] |
z
L
] I
e
L] I
2
Gy
iy =
== =
aatin
AFSI304
polish  42,4x2
AISIZT0 -
natural 30

L=max. 1200mm, max. 7 holes

N i

ATYP-INDX A/f42 4
ATYP-INDX Af42 a1
ATYP-INDX A148/42 4
ATYP-INDX WE/D30
ATYP-INOX WD/ D50

<]
L
]
Ly ]
i
i
[ g] I
z
L) l
Ll i
Epl e
b
Nl
2

40xd0x2

ANSI304

aatin
ASI3G
| fEE L1

natural  40x40

L=mae. 1200mm, max. 7 holes

ATYP-INOX AS4Dx4D

ATYP-INOX AT4 /404D
ATYP-INOX WE/ 4040
ATYP-INOXE WD/ 40040

(2l ]

s

4

=



A-DIN T380
Af42 Ax2 Af12%,5 ASIT29-242 ASD227-072 -A2 M3x12

AJZVROD-1500 1500

A/ZVRI0-0000 G000
AJ/ZVRID0-1300 1500

AJZVRIDO-3000 3000 1000
ASZVRIDD-0000 &000

A/ZNSS0-1300 1500
A/ZVSE0-3000 3000
A/ZVSS0-0000 6000
A/ZVSS0-1300-L 1500 =ae
AISI304 in | 42,4x2  AfZVSS0-3000-L 3000
A/ZVSD0-0000-L 5000
AJZVS100-1500 1500
A/ZVS100-3000 3000 1000
A/ZVS100-0000 6000
A/ZBR90-1300 1500
- A/ZBR90-3000 3000 800
| _ A/ZBRI0-0000 5000
{ AISII0A 42 4ax2
i A/ZBR100-1300 1500
_‘ ! b A/ZBR100-3000 3000 1000
A/ZBR100-6000 5000
A/ZESH0-1300 1500
A/ZBS90-3000 3000 800
A/ZBES90-0000 6000
AISI304 42 dx2
A/ZBS100-1300 1500
A/ZBS100-3000 3000 1000
A/ZBS100-0000 5000
b | not assembled

Q/INOX-NSTALL-SET

89



VERTICAL
0 RAILING

2




3 1000, VER

&
“
_____,..-"""
16
1'-_.-B L7y ¥

&
#
L
= THf

N



92

A/42 4x2  AM4Z 4AX2-13IXT12-2000 1IxMI-2000

4 dq|
AVER-VR/ER
= L
A TTTTTTTTTTT
ol
: AL

Ll il gating 42 4x2 A/ZVWR100-2000-D33/D12 2000 1000

Lle=lin g gatin 42 4x2 A/ZVWR100-2000-D42/D12 2000 1000

L= e gating 42 4x2 AEVWR100-2000-D12/D12 2000 1000

==L RS satinn 42 axz A/INVVEI100-2000-D12/D12 2000 1000

L=l e gatin 42 4x2 A/ZVBR100-2000-D33/D12 2000 1000

V=0 satin 4z 4x2 ASZVBRI10D-2000-D42/D12 2000 1000

pisesln N gatin 42 4x2 A/ZVBER100-2000-D12/D12 2000 1000

Q/INOX-INSTALL-SET

AM1261,3-3000 AS0S02-4042

Af0831-042

%\\\\9&~aﬁ

A/33,Tu2  AS42 4x2-710x12-1300 AS33.Tx2-

A4/0832-072 ASIT29-242 ASOT2T-242-5

S0 it

not a

2

2%

&

sembled



a3



FRENCH
0 BALCONIES

2




1250

aco

* G5-304/FRE2-8300x1230-042 5. TEVIE * G5-204/FRB2-500x2 300-042

5,TEVSG

95



2 m 4 EiEggnlES




-
T

=

N
CONII

LAY

]
B=T
= s

.::;‘

e
l I ILL
AJPYER-YRIOO  A/4T18-000-B ASSORS0K2 mﬁsm“”z; GS/8,T0-... GE-PVC/ZP...
A/ZGALVAT00-6000 AISII04 AISI304 AIS1304 ALUMIHILM GLASS Fucker
Sx S &m &xsm 5x 2am
Types of anchoring
GS-AL/ZP-20x30/5/VA Aj6925-040 A ZEAEEE

a7









3 1] 1 gll:ﬁl\sllis
AXIAL




3 1] 2 gll:ﬁl\sllis

FRONT

3 SHEET
| CLAMPS

Aumakov’
4 " FrobucT SYSTEM 'DESIGN



‘i
et

|
s

1 GLASS
CLAMPS
AXIAL

3




130 - 160
500 - 700

130- 140

*Uvedené hodnoty su orientaéné nakolko technicke normy sa v jednotlivych krajinach ligia. Pri navrhu zabradlia je potrebné zohladnit aj dalsie faktory ako je veterna zona, uéel stavby,
hibka prepadu, kotvenie stipika, ...

*The values given are just informative because the technical standards vary from country to country. When designing railings, other factors have to be taken in consideration such as
wind zone, purpose of construction, depth of overflow, post anchorage, ...

Hlk

— D -—
L 1
R i
e
2 o
Ly § g
2o e
— L{D)I §
11
i = ‘L
T
%Z
%.
10 10
120 120
0,75
1,5
2 1
2 3 Ho)
2.5 2
1 0,5
2 15 | 1
15
2
2.5 2

0,5
0,5
i
1.5
0.5 |
1 0,5
1,5 1

103



104

6,76

8,76
10
10,76

6-10,76

8-10,76

6-12,76

12

glass t

12,76

6-12,76

6-12,76

13,52

16,76

17,52

20,76

21,52




MODEL

@

1,5-3

W

2 el o| B | w 2 S 3
© w| T | T £ ) -

6-10,76

6-10,76

6-10,76

812,76
12-16,76
8-12,76

17,52

20,76

17,52-21,52

21,52

105



AISI316

1.5

satin

polish
zatin

AISI316

polish

satin

polish

1.5

A18/20-0015 A19/20-002 A19/20-003

106

A/2000-033
A/2000-042
A/2000-042-zet4
A/2000-048
A/2000-033-L
A/2000-042-L
A/2000-048-L
A14/2000-033
A14/2000-042
A14/2000-048
A14/2000-042-L
ZN/2000-033
ZN/2000-042
ZN-SATIN/2000-042
ZN-POLISH/2000-042

plate t
2

A/2000-000

A/2000-000-zet4
A/2000-000-L
A14/2000-000
A14/2000-000-L
ZN/2000-000
ZN-SATIN/2000-000
ZN-POLISH/2000-000

plate t
2

33.7

42,4

48.3

33,7

48,3
33,7
42,4
48,3
42,4
33,7
42,4
424

42,4

6

T3

4x

1x

6
A19/20-006

6,76

4x

6,76

8

g

-1076

1
L
é

[L15_|
17,5 20
37.5
I 30 |
“» y/

1%
Ax 4x 8x
1x
glass t

8,76 10 10,76

A19/20-0015 A19/20-002 A19/20-003 A19/20-006 A19/20-007 A19/20-008 A19/20-008 A19/20-010 A19/20-011

8x Mew

glass t
8,76 10 10,76

A19/20-007 A19/20-008 A19/20-008 A19/20-010 A19/20-011

?’;fﬁ{_{}k



8-10.76

I
i

~ A/2200-042 42,4 Lo
A/2200-048 483
A/2200-042-L 42,4
polich
A/2200-048-L 48,3
 A14/2200-042 42,4 v 1x
~zatin

AISI316 A14/2200-048 48.3

A14/2200-042-L 42 4
ZN/2200-042
42 4
ZN-SATIN/2200-042
= plate t glass t
1.5 2 3 8 8,76 10 10,76

|A19/22-0015 A19/22-002 A19/22-003 | A19/22-008 A19/22-009 A19/22-010 A19/22-011

_satin  A/2200-000
polish  A/2200-000-L

satin | A14/2200-000

AISI316 1x
A14/2200-000-L
ZN/2200-000
ZN-SATIN/2200-000
plate t | glass t
1.5 2 3 8 8,76 10 10,76

A19/22-0015 A19/22-002 A19/22—003.A19/22—008 A19/22-009 A19/22-010 A19/22-011

107



INCERCH  =atin  A14/2200-700 1x
plate t _
15 2 3 8

INISESCN  satin | A14/2200-900-B x

_ plate t _
15 2 3 8

|A19/22.0015 A19/22.002 A19/22-003 A19/22-008

108

glass t
8,76 10

glass t
8,76 10
A19/22-008 A19/22-010

10,76

.A19/22—0015 A18/22-002 A19/22-003 . A19/22-008 A19/22-009 A19/22-010 A19/22-011

10,76
A19/22-011

| 8-1076

o
28 223 28 3
| | il
| |
16 @10
108



D10 °
o
| 1 .
= el
|
II_‘gu' f:.
(=
A-DI ) A 4
A/2500-042 1x Zaﬁ«-
42,4 i
A/2500-042-zetd 4x 4% 8x Mew
A/2500-048 1x
48,3 v ! ]
A/2500-048-setd 4x Ix t hew ﬁ
A14/2500-042 42,4
L 1)( i
A14/2500-048 48,3
glass t
D 6 6,76 8 8,76 10 10,76 12 12,76
| A19/25006 A19/25007 A19/25008 A19/25009 A19/25010 A19/25011  A19/25012  A19/25013
Ao R
210 2
o
| | -
|
17 |
20 28
45
63

‘
A/2500-000 1x

satin  A/2500-000-set4 Ax Ax 8x Aew
' A14/2500-000 1x

glasst
a_ 6 6,76 8 876 10 10,76 12 12,76
| A19/25006 A19/25007 A19/25008 A19/25009 A19/25010 A19/25011  A19/25012  A19/25013
new ne

109



A/250P-042

A/250P-042-zet4

ZN/250P-042

6 6,76

a

hew  hew

A/250P-000
A/250P-000-zetd

ZN/250P-000

i
a | 8 6,76
| A19/25008  A19/25-007

hew  mew

110

42,4

g

| A18/25-0068  A18/25-007  A19/25-008

1x
4x
1x
8
A19/25-008

gl.ass t.

8,76
A19/25-009

10
A19/25-010

4x
glasst
8,76 10
A19/25-009  A19/25-010

10,76
A18/25-011

8x

10,76
A19/25-011

4x

12
A19/25-012

12
A19/25-012

8x

12,76
A19/25-013

12,76
A19/25-013



: A/2800-033 33,7
satin v c
A/2800-042 42 4

glass t
A19/28-004 A19/28-006 A19/28-008

|
—— R
=
1
11 |
f-”._‘|
13
[ 35 il

' A-DIN 912-A2 M5x20
m satin  A/2800-000 1x

| glass t
4 B 8
A19/28-004 A19/28-006 A19/28-008

111



'90 ‘»‘f
- 1
: 1 1 |
A/2100-033 33.7
1 1x
) A/2100-042 424
satin
A/2100-042-zet4 42 4 Ax Ax 8x
v
A/2100-048 48.3
polish  A/2100-042-L 42.4
A14/2100-033 33,7
satin A14/2100-042 42.4
AlSi316
A14/2100-048 48,3 1x
A14/2100-042-L 42 4
v
ZN/2100-042
ZN-SATIN/2100-042 42.4
ZN-POLISH/2100-042
plate t . glass t
1,5 2 3 6 6.76 8 B.,76 10 10,76
A19/21-0015 A19/21-002 A19/21-003 A15/21-006 A19/21-007 A19/21-008 A19/21-009 A19/21-010 A19/21-011
I |
———

i

’ F: 1 il ful ~ C
=atin  A/2100-000
polish  A/2100-000-L
satin  A14/2100-000
AISI316

A14/2100-000-L 1x

ZN/2100-000

ZN-SATIN/2100-000
polish  ZN-POLISH/2100-000

plate t | g_lasst
1,5 2 3 6 6.76 8 8,76 10

A19/21-0015 A19/21-002 A18/21-003 .A19/21—006 A18/21-007 A19/21-008 A19/21-008 A19/21-010 A18/21-011

112

1é

|

19

45

10,76

| 6-10.76



23

A/2300-042
A/2300-042-zetd

424

A/2300-042-L
ISR satin @ A14/2300-042

ZAMAK ZN/2300-042

5] 6,76 8
l A19/23-PO6/K0O8 A19/23-PO7/K09 A19/23-P0O8/K10 A19/23-PO9/K11

glasst

I 20"

8.76

=0
~
S
a2 T
.f.'\:.,/ | ~0
(|
i L
.15 |
18 _|
L 45
1x
4x ax 8x AMeWw
e
1x Mew
10 10,76
A19/23-P10/K12  A19/23-P11/K13
2
P~
S|
'
—— 5
(]
| ]
L5 |
L 18 |
45

A/2300-000 1x
A/2300-000-setd 4x
A/2300-000-L

AlISI316 A14/2300-000 1x

ZAMAK ZN/2300-000

5] 6,76 8
l A19/23-P06/K0O8  A19/23-PO7/KO08 A19/23-PO8/K10 A19/23-POS/K11

glass t

4x

8,76

ol
9
1::?,‘_

8x

£id

10 10,76
A19/23-P10/K12 A19/23-P11/K13

113



1076

&

L

A/230P-033 337 -
1x -
_ A/230P-042 104
satin 42,4 L
A/230P-042-zetd 4x 4x 8x new
A/230P-048 48,3
polich A/230P-042-L
42,4 v
_ A14/230P-042
zatin 1x
AISI316 A14/230P-048 48,3
polich  A14/230P-042-L 42,4
ZN/230P-042 42,4
glass t
6 6,76 8 8,76 10 10.76

A19/23-P06/KD8 A19/23—PU?/K09 A19/23-P08/K10 A19/23-PO9/K11 A19/23-P10/K12 A19/23-P11/K13

6-1076

L~

T
1

_ A/230P-000 1x Lol
satin :
A/230P-000-zet4 ax 4x 8x Aew

polish A/230P-000-L

zatin  A14/230P-000

AISI316 1x

A14/230P-000-L

ZAMAK ZN/230P-000

glass t
6 6,76 8 8,76 10 10,76
A19/23-P06/K08  A19/23-PO7/K08 A19/23-P08/K10 A19/23-POS9/K11 A19/23-P10/K12 A19/23-P11/K13

114



L 6-1076

o

A19/04-PVC

- A14/230P-700 1x

glass t
5] 6,76 8 B,76 10 10,76
A19/23-P0O6/K08  A19/23-PO7/K09 A19/23-P08/K10 A19/23-PO9/K11  A19/23-P10/K12 A19/23-P11/K13

I

=

o
6-1076

<

A19/04-PVC

A14/230P-200 1x

glasst
6 6,76 8 8,76 10 10,76
A19/23-PO6/K0OB  A19/23-PO7/K09 A19/23P0OB/K10 A19/23-P09/K11  A19/23P10/K12 A19/23-P11/K13

115



116

1]
(V%]

AISI316

AbP

satin

polish

satin

AISI316

polish

8

A/23KP-042
A/23KP-042-zetd
A/23KP-042-L
A14/23KP-042

A14/23KP-042-L

A/23KP-000
A/23KP-000-zet4
A/23KP-000-L
A14/23KP-000

A14/23KP-000-L

8,76
A19/23-P06/K08  A19/23-PO7/KO08 A19/23-PO8/K10 A19/23-POS/K11

8,76
A19/23-P06/K0OB  A19/23-PO7 /K09

42,4

42,4

42,4

10

A19/23-P08/K10 A19/23-PO8/K11

4x

10

glass t

glass t

10,76

4x

10,76

=)
8-1276

12 12,76
A19/23-P10/K12 A19/23-P11/K13

%]

—_— ]9--

¢
e/
8x Mew
e
e
hew
s10 S

8x

11t

12 12,76
A19/23-P10/K12 A19/23-P11/K13



A/2400-042

 A/2400-042-cetd

A14/2400-042
AlISI316

A14/2400-048

ZN/2400-042

: 12,00 12,76
A19/24-012 A19/24-013

A/2400-000

AlSI304 N
~satin  A/2400-000-setd
AlSI316 A14/2400-000

ZAMAK ZN/2400-000

g_lass_t
12,00 12,76
A19/24-012 A19/24-013

I 90"
-
42,4
483
42,4
13,52 16,76
A19/24-014 A19/24-017
-0l
1%
Ax Ax
1x
13,52 16,76
A19/24-014 A19/24-017

12-16,76

)

o

8x AW
~0
P
SO, »
[T =
m
2
17,5
19 22
4] |
55

117



A/2600-042
42,4
A/2600-042-zet4
A/2600-048 483
A14/2600-042 42,4
AlsSi316 -
A14/2800-048 48,3
ZN/2600-042 424
ZN/2800-048 48,3
ZN-SATIN/2600-042 42,4
glass t
8 8,76 10 10,76 12

A/2600-000 1x
AISI304
~satin A/2600-000-zet4 4x 4x
AISI316 A14/2600-000

ZN/26800-000 1x

ZAMAK
ZN-SATIN/2600-000

glass t
n 8 8,76 10 10,76 12
| A19/26-008 A19/26-009 A19/26-010 A19/26-011 A19/26-012
118

4x 4x 8x Aew

1x

12,76

.A19/26—008 A19/26-009 A19/26—010 A19/26-011 A19/26—012 A19/26-013

8x new

12,76
A19/26-013

8-12.76

p—



17,52- 21,52

R N
|
—_ -

glas=st
17.52 20,76 21,52
A19/27-018 A19,/27-021 A19/27-022 ﬂ

new - e hew

29
=
& | %
1
]
Lol
e A
— 30 -—
§ oo
=
5 A/2900-033 33,7
~satin v 1x
A/2900-042 42,4
: glass t
4 8 8
A19/29-004 A19/29-006 A19/29-008
S
i
i |
|
*
I i
L1
13 |
3o
m zatin A/2900-000 1x
| _gla:s t
4 8 E}
A19/29-004 A19/29-006 A19/29-008

119



Jl oo
= ¥ sy
A4-DIN 7991 M8x20

A14/0783-000 flat v
: 8-12.78 1x
A14/0783-042 424 @

g

I
£ sl
A4-DIN 7991 M8x20

A14/0782-000 flat v AW
- 8-12,78 1x
A14/0782-042 424 - ew
glass t
» 8 8,76 10 10,76 12 12,76
_ A19/07-009 A19/07-011 A19/07-013

A/1000-000 flat ew
Mew

A/1000-042 42 4

120

@32

24

50

o

13
18




121






L1224
e 18§
&

‘.

AEEDEY satin | A/4100-042 1x A\ksE8 satin | A/4100-000 1x

= =
!
&
I 8
0
~
o
o
‘.
FAEGER satin | A/4100-742 1x AW FAEELES =atin | A/4100-700 1x e
L glass t
| 8 8,76 10 10,76 12 12,76
A18/4041-008 A19/4041-009 A19/4041-010 A19/4041-011 A19/4041-0n2 A19/4041-013

123



4
9|
0
36 i
39 >
&
W A/4000-042 1x IAEIEGES =atin | A/4000-000
W
| -t
= &
]
N
o
b
%4
PNSEGES =atin | A/4000-742 1x S PAEEREY =atin
' 8 8,76 10 10,76
A19/4041-008 A19/4041-009 A19/4041-010 A19/4041-01

124

263

8-1276

14

LT~

A/4000-700

81276

A19/4041-013

28



%]
—
>

"
L 11
L 1]
13
~0
20 ™~
b o
o
$252
®20
'ﬂ' amp ‘ o ‘
satin  A14/2100-742 satin A14/2100-700
Si316e 1 1x AlISI31e 1x
polish A14/2100-742-L polish A14/2100-700-L
. ' il ]
) &
‘ 1]
| 26, "
30 5
%
©25,2
®20
| e ‘ | b '
satin  A14/2110-742 satin A14/2110-700
AISI316 1x i AISI31E 1x
polish A14/2110-742-L polish A14/2110-700-L
glass t
6 6,76 8 8,76 10 10,76 12 12 TE:
A19/21-706 A19/21-707 A19/21-708 A19/21-709 A19/21-710 A19/21-T11 A19/21-712 A19/21-113

125






1,5

A19/20-0015  A19/20-002

1.5

A19/21-0015  A19/21-002

A19/22-0015 A19/22-002 A19/22-003

a

A/MR-2x3

A/MR-2x3
A/MR-10x15

\

i

A/MR-28x13x2

A/MR-28x13x2

=zatin

A/MR-62x20x3

plate t

plate t

plate t

1000x2000

1000x2000

A19/20-003

A19/21-003

28

62

A/MR-10x15

A/MR-682x20x3

13 1

20 2

3.8
5.7

&

127



33,7 A/0743-033 A/0743-000

420 Byiadas n  flat 25 40 15 1540
483 A/O743-048 240 I3 sl Aisizic R A14/0743-000

42 4 A14/0743-042

A/18frame 18 1,7 1,25 | HeW A/18-G90 A/184rame sl

AlSI304 EETTE !
satin  A/204rame 20 3000 1,5-2 AW A/27-G90 A/27-frame ew
1,5 — .
A/27-frame 27 13 e

plate t
T
t
"y
"
1%
A/20x20x2-frame 20x20 1,5 1,2 Aol BASELES catin | A/20x30x2-GO0  A/20x30x2-frame MeW
LAEEGEY  satin - A/30x30x4-frame 30x30 4 3000 e
1,5
A/30x30x7,5-frame 30x30 7.5 Mnew
plate t

iﬁ 1.5

20x30 1,7 3000 S




129



‘_..
N cm—

e ——————

‘ ....

i’






4 CABLE
m B SYSTEM

4 _ D Hanprais

4 LED
u HANDRAILS

152



HANDRAIL
HOLDERS

q.

4 CROSSBAR
HOLDERS

Lumakov’

PRODUCT/SYSTEM/DESIGN



4_6 CONNECTORS

Lumakov’

PRODUCT/SYSTEM/DESIGN



4 FLANGES,
= &) BASE COVERS

4 SQUARE
med SYSTEM

PRODUCT/SYSTEM/DESIGN



i A TN R 4 Ly b by e AN

,_?igm;m E.ﬂ.ﬂn‘ﬂg_\q_i g-&;‘. rﬂ. #w—“.w .‘r_f%ﬁ?gﬁ.'. 1___. _”__ w_.«;w_*.. t’ __r. u.".. _._ ﬁ_ﬁ { — *..,.: ﬁ. .*‘. i 0 pA.r L: .....m..h. A% ._‘Twﬁh. jub 18 7y _____ i b *_. " fy HI. _%t.._:. b LR _._ 1l




AlSI316

AlISI316

AlSI316

AlISI316

FIX

sa . .h;.“.:.

A14/7900-003-012 12,5
A14/7900-003-025 25
A14/7900-003-050 3 50
A14/7900-003-100 100
A14/7900-003-200 200
A14/7900-004-012 12,5
A14/7900-004-025 25
A14/7900-004-050 4 50
A14/7900-004-100 100
A14/7900-004-200 200
A14/7900-005-012 12,5
A14/7900-005-025 25
A14/7900-005-050 5 50
A14/7900-005-100 100
A14/7900-005-200 200
A14/7370-003 3.5 5,5 3
32 35
A14/7370-004 4.4 6.3 4
A14/7370-005 53 37 75 41 5
A14/7370-006 B85 47 9 52 6

AISI316

AlISI316

A14/7900-006-012
A14/7900-006-025
A14/7900-006-050
A14/7900-006-100
A14/7900-00€-200
A14/7900-008-012
A14/7900-008-025
A14/7900-008-050
A14/7900-008-100
A14/7900-008-200

-t

12.5
25
50

100

200

12.5
25
50

100

200

$11¢

137



FIX-VARIO d 3mm
YLV/LP-6,0x5,0/1,5-316
d 3-5mm
- A/7350-003 6,0 6 13
AISI304  A/7350-003-B 6,0 6 13 B
satin  A/7350-005 95 10 20 +
A14/7350-003 8,0 6 12
AISI316
- A14/7350-005 95 10 20 A14/7604-005
d 4-Tmm
A14/7601-005
— L -—
. ol
da L N7 | =
il_ =
b b iz L1 =

A14/7330-003

3
A14/7330-004 4 7E 1280 B 48 Mnew P
~ A14/7330-005 5 96 13 58 30 58
| A14/7330-008 & 11 15 72 40 7.8

8|

- A14/7300-003 3 12 51 ) 13 8 /‘
A14/7300-005 4-5 16 65 8 15 10 |

A14/7350...

138



M6x50 ] M5 __H__. = go]
6{3]— ] = ==
ag

AISI304 A5/L6 46 Lo

INGEICl  Al4/Le 48

'|' R
e s B

| A14/L5-3 3 635 38 48 6 100
A14)L5-4 4 75 45 48 6 108
A14/L5-5 5 9 51 63 10 132 right
 A14/L5-6 6 125 64 63 10 1465
AlSI316 A14/L5-8 & 16 83 80 12 180 el
A14/L5-3-LEFT 3 635 38 48 6 100
A14/L5-4-LEFT 4 75 45 48 6 108
A14/L5-5-LEFT 5 9 51 63 10 132 et
A14/L5-6-LEFT 6 125 64 63 10 1465

|
m
dol.

A14/7360-Me 13 35 8 39 6

A14/7360-M10 17 45 13 50 10

139



8 L Ex - VARIO

AISI304 ~ AS/Le-V
 satin
AlSI316 A14/LE-V

4-6

102

. el
(e

\{/

o~

o

==

d

A5/L7-6
 AS/L7-8

A/7250-003
AISI304

A/7250-005

A14/7250-003
AlSI316

A14/7250-005

140

4-5

5-8

3
4-5
3
5

19

10,5 160-220
17,5 230-340
8 140-200
13,5 230-340

7.5
10,3
7,8
10.3

12
13
12
13

85

A14/7350...




SESIRM £ - VARIO

s A14/7330-M8 8 13,5 9 61 59 Hew
~satin
_ A14/7330-M10 10 20 12 73 9

A14/7350...

141



142

D4-6

o
385 5

;
EID-E
I

Aisi304 I TS
AIsI316 | | A14/L6-G

" 42.4 A/0830-042
flat A/0830-000
42.4 A14/0830-042
flat A14/0830-000

AISI304

AlISI316

42,4 A17/442-3 3

LiicolY 42 4 A17/442
! flat A17/400 6
AISI316 § 424 A14/442




'AL/7405-003 3 15 117

| AL/7405-004 4 16 14 9

raw  AL/7405-005 5 22 17 11

AL/7405-006 6 26 19 12

|AL/7405-008 8 32 27 17

h
t
d

M satin  YLV/LV-70x120x1,5-316 70 120 800 1,5 NSk natural YLV/LP-6,0x5,0/1,5-316 3 05 7

0P * 9 -

A/5729-242 A/0305-012 A/12x1,5 /42 4x2 YLV/LP...

/
A/O718-242 '

~
YLV/LV-70x120x1,5-316

A-VER-VR100~ 'A/0830-042

143



M RIGHT

s e

Er—e— 9|

~ A14/7605-M6 30 6 e
satin
A14/7605-M10

120 10

A14/L5...

A14/L5...

130-200
|

M raw  A14/7500-010

YLV/LP-6,0x5,0/1,5-316

YLV/LP-6,0x5,0/1,5-316

+t (=0 + ’

A14/7€04-005 A14/7604-005
Q + @+ ~==0+ Q
A14/7801-005 A14/7803-005 A14/7801-005

144




g -
| |
. i
!' /| | ) -O' i -----&?42
‘ ) P | © 424
RYaa— 531
/18 . o
L Sl ) S A‘A
= Jle
L2 |
A/7400-003 3 18 zatin | A14/012-02 e
AISI304 e =2
_ A/7400-005 36 20 |Tod~
A14/7400-003 3 18
AISIZ16 |
A14/7400-005 36 20
@209 SRR .
7
n  A14/7603-005 Mew
3.5
M' satin  A14/7604-005 Mew
m' satin  A14/7601-005 Mew
m YLV/LP-6,0x5,0/1,5-316 3 05 7 ‘08/95 3.8

145



4 _ 2 HANDRAILS




A/10x1-3000
A/10x1-6000
A/12x1-3000

A/12x1-6000

. A/12x1,5-3000

AISI304 -]

A/12x1,5-6000
A/14x1,5-3000
A/14x1,5-8000
A/16x1,5-3000
A/16x1,5-6000
A/20x1,5-3000
A/20x1,5-6000

. A/25x2-2000

AISI304 -]

A/25x2-6000
A/33,7x2-3000
A/33,7x2-6000
A/42,4x1,5-3000
A/42,4x1,5-6000
A/42,4x2-1500
A/42,4x2-1500-EXCLUSIVE
A/42,4x2-2000

. A/42,4x2-2000-EXCLUSIVE
AISI304 -]

A/42,4x2-3000
A/42,4x2-3000-EXCLUSIVE
A/42,4x2-6000
A/42,4x2-6000-EXCLUSIVE
A/48,3x2-3000
A/48,3x2-68000
A/12x1,5-3000-L

A/12x1,5-8000-L
L RDEY polish A/42.4x2-1500-L
A/42,4x2-3000-L
A/42,4x2-6000-L
A14/12x1,5-3000
A14/12x1,5-8000
AISI316 =]

A14/42,4x2-3000

A14/42,4x2-6000

General tolerances
T3/D3 EN 10217-7
(t £10%. max £0,2mm;
D £0,75%, max =0, 3mm)

t/

10

12

12

14

16

20

25

33,7

42,4

48,3

12

42,4

12

42,4

1.5

1.5

1.5

2

1.5

2

3000
6000
3000
6000
3000
6000
3000
6000
3000
6000
3000
6000
2000
6000
3000
6000
3000
6000

1500

2000

3000

6000

3000
6000
3000
6000
1500
3000
6000
3000
6000
3000
6000

g

338 ¢ & i

satin

A/8-3000 8 e
3000
A/12-3000 12
A/12-6000 12
6000
A/20-6000 20

147



MonoLIT [l

B
cca 600

Finish art D L

_ D L
WE/D42-L1200 1200 WB/D42-L2000-CINK 2000
WB/D42-L1600 1600 WB/D42-L2500-CINK 2500
WE/D42-L2000 s 2000 natural WB/D42-L3000-CINK 2 s000
WB/D42-L2500 2500 WB/D42-L4000-CINK 4000

natural WB/D42-L3000 3000 izo{ﬁ = '
WB/D42-L4000 4000 AW
WE/D50-L2000 ' 2000
WB/D50-L2500 49 2500
WE/D50-L3000 3000
WD/D42-L1200 ' 1200
WD/D42-L1600 1600
WD/D42-L2000 2000
WD/D42-L2500 = 2500 |

natural WD/D42-L3000 3000
WD/D42-L4000 4000 EMW
WD/D50-L2000 ' 2000 |
WD/D50-L2500 49 2500 |
WD/D50-L3000 3000

art D h Lo

WE/40x40-L2000 2000 |
wa,mo;mo-:.zsoo' 2500 |
WB/40x40-L3000 3000
WB/40x40-L4000 4000 ‘

natural 40 40 g
WD/40x40-L2000 2000 |

. WD/40x40-L2500 2500 |
: WD/40x40-L3000 3000 |
WD/40x40-L4000 4000 |

148



A L
1|
Y
A
A/40x20x2-8000 40 20
A/10x10x1-6000 10 10
1 satin  A/50x30x2-8000 50 30 8000
A/12x12x1-6000 12 12
A/60x40x2-8000 80 40
A/20x20x1,5-8000 20 20 1,5 6000
A/25x25x2-6000 25 25
A/30x30x2-6000 30 30
A/40x40x2-1500 40 40 1500
zatin |
A/40x40x2-2000 40 40 2000 |HAe/
2 il
A/40x40x2-3000 40 40 3000
A/40x40x2-6000 40 40
A/60x60x2-6000 80 60
A/80x80x2-6000 80 80
6000
A/100x100x3-6000 100 100 3 A%
polish A/40x40x2-6000-L 40 40 el
2
FALEI satin  A14/40x40x2-6000 40 40
A/10x10-3000 10 10 3000 A/15x5-2000 2000 e
6000
A/12x12-6000 12 12 Mew A/15x5-4000 4000
A/20x5-6000 20
satin  A/25x5-6000 25 5
A/30x5-6000 30
6000
A/40x5-6000 40
A/50x5-6000 50 new
A/60x5-6000 80 W

149



A/42,4x2-10x12-1300 1300 m =atin  A/40x40x2-16x12-2000 40 40 1300 12,3 Fveil/
132
satin  A/42,4x2-15x12-2000 424 2 2000 12,3
A/42 4x2-H-atyp

A/40x40x2-15x10x10-2000 10x10 e
satin 40 40 2000
A/40x40x2-15x12x12-2000 12x12 PEW

A/33,7x2-15xM5-2000 33,7
o 2 2000
A/42,4x2-15xM5-2000 42,4

150



Y-

A Ao

A/M-1500 1500 2x 2x 4x

A/M-2000 2000 2x 2% 4x e
zatin = 42 4x2 75x50

A/M-3000 3000 3x 2% 6x

A/M-6000 6000 5x 2% 10x

AJP/M-1500 1500 2x 2x 4x

: AJP/M-2000 2000 2x 2% 4x
satin @ 40 x40 75x50

AJP/M-3000 3000 3x 2x Bx

AJP/M-8000 6000 Sx 2x 10x

WB/M-2000 2000 2x 4ax

WB/M-3000 3000 ax 8x

WB/M-4000 4000 b 10x
" natural 42 4x2 T5x50

WD/M-2000 2000 2x ax

WD/M-3000 3000 4x 8x

WD/M-4000 4000 5x 10x

WBJP/M-2000 2000 2x Ax

WBJP/M-3000 3000 4ax 8x

i WBJP/M-4000 4000 5x 10x
natural 40 x 40 75%50

WDJP/M-2000 2000 2x 4x

WDJP/M-3000 3000 4x 8x

WDJP/M-4000 4000 5x 10x

-

not assembled
151



4 LED
8 HANDRAILS




Etfmct

ELOX AL/24x21-LED

- milk

1250

Ty mish

‘ PVC | Black A19/PD-LED

©
D
L, 235 |

You[T) umakowv

A-DRILL-M5

A14/0112-000-LED-B

A19/PD-LED

A-DIN 7991-A2 M5x10
A-DIN 7380-A2 M5x12

153



154

AL/23x25-LED 1250 | e/

m A14/PD-LED-23x25 A/

A/692...

A-DIN 7380-A2 M5x12 A/6732-042

AL/23x25-LED

A/GLUE...

A14/PD-LED-23x25

A-DIN 7380-A2 M5x12

A14/0112-000-LED-B




Quality Finizh Color art axhb

+ white S000K LED/24x24 24 x 24 new
SILICONE

A/6732-042

-~ LED/24x24

YEM/2x0,75-SET
A14/4114-042-LED

Youl™® umakov

155



bl
=
75
satin  A14/0112-000-LED-B  Aucil/
1T o
|| 2xDé5
65 o) ©
B o n 3
ol & B
1 i P
P — !
\\_,/
. j
! 4
l__ &45 80
- 0 o

EEEL) satn A14/4114042ED Al

(\‘}

F

Y N H of =
‘ ,H qiﬁ'\.
E 3 ~0 4
SER

L KA —Fls
S I - )
76,5

m ‘catin  A/0110-42-55-35-LED  Ja.&M/
156



i 'L-_43 —‘ 22 |
e e =
T L =268 |
© D14 ‘
=1
o0 !
2L
42, 4x2

|YEM/2x0,75-SET 0,75

157






WELD

AISI304 i A/0113-000-R
AlSI316 - A14/0113-000

3/

BEEA =atin ajot13000 o

=)

sis0s ERINEITEC I ¥ |

:)

sis0s IETINEITET I ¥ |

159



m satin  A/0118-270 Mew @

I wstn 0152000 1

m B //otioa70Z  s0n7s M

- A/0110-000-Z 73x71

m =zatin  A/0120-000-Z @

160

75

_’_ T

[~

£
/R

o

— b -
1

@12
=
E ...... H_._i] 1
111.5




==

161



| M8x80
o J

m satin  A/0134-042

162



|
m =atin  A/0131-M6 ﬁ|

111.5
175

m catin  A/0120-000-M& @

163



33.7 A/0111-033

zatin 42,4 A/0111-042

Q5/07-12 NYLON
48.3 A/0111-048

polish 42,4 A/0111-042-L
A-DIN 9210 M8x60-A2

LIEEFE  satin 424 A14/0111-042

@%

c |
. P60
E

m satin  A/0111-000

164



AISI304 U
Alsizie

A/0112-000
A14/0112-000

AlISI304

polish

polich

33,7 A/0112:033
42 4 A/0112-042
483 A/0112-048

A/0112-042-B-L
42,4

A/0112-042-L
42 4 A14/0112-042
483 A14/0112-043

42,4 A14/0112-042-L

AISI304

AlSI316

=atin

polish

A/0112-042-A 75x50
A/0112-042-B 72x50

patmonadaza s

A14/0112-042-A-L 75x50
A14/0112-042-B-L

SR =stin A/0116042

65

0]

80

34

165



166

m saﬁn .A/o115-o§o

A -atin /0115042

EEEY :atin  A/0117-000B

AISI304 saﬁn A/0117-042-B
AISI316 - A14/0117-042-B

(oY)

——

B

!.._ -—
E a | *
wy
4
o8
s '2'/”—1
89 -—

s




m saﬁu 3A;0145~boo ' g‘

A/0145-042 M

~ A/0110-42-55-35-LED A&l

10 |
1 =
E ;|__“"
o
5
8
o <
gr LN NN \
f‘i | == e I—t
=TRSO - j
vy, 13
- L h
w-

76,5

167



ew

A/0708-42-55-35

/[
\

o

\

D427

1 55

)
i

oA |
OIlW
o

A/0708-42-55-C Aol

p——

'A14/4114-042-LED Ao/

Asiz1e B

168



S

=S

|| X065

2x D 6,5

012

80
or al_
2 0
£
3
T e
24
ot S
g—i
1R
- j
LB
b2
[m
. &
N
j__ 5
80 N

169



@65

PLO R

60

FLO

A

41

337 A/0625-033
42.4 AJ0625-042

8,5

43

n

A/0625...

170



AISI316

42,4x2,0
33,7 A/O717-233 33,7x2,0
. 42,4 AjOT18-242
=satin 42.4x2.0
48,3 A/0718-248
48,3 A/0719-248 48.3x2,0
olish 42 4 A/0718-242-L
£ ! 42 4x2.0
. 424 A14/0718-242
satin -
48,3 A14/0719-249 48.3x2,6
polish 42 4 A14/0718-242-L 42.4x2.0
zatin A/0710-242
polish 424 A/0710-242-L 42 4x20
A14/0710-242
48,3 A14/0712-249  483x2.8

polish 42,4 A14/0710-242-L

42,4x2.0

14

63

65
63

171




A/O711-842 /301

A/0710-842 - A/303...

i 4%
polish A/0710-842-L A/303...
. A14/0710-842
satin A14/303.
48,3 A14/0712-849 48,3x2,6
A14/0710-842-L A14/303...
42,4x2,0

polish 424 LAx2,
A14/0711-842-L A14/301... EW

80,5

EEE] satin | A/0700-042

| p42.40|

[EE =atin  A/0716-000

L 42.4x2 |

EEE satin  A/0716-242
172



24_

£14

0
3
1
¢ 42,4%2 |
— —
EEE] satin  A/0713-000
42.4 A/O713-242  42.4x2.0
S
48,3 A/O713-248  48.3x2.0
H . |
!
]
O S
) A/0727-233 5  33.7x2.0
satin
A/0727-242-C 9
) A/0727-042-L 9
polish 424 42 4x2 0 8.5
A/0727-042-B-L 8
42,4 A14/0727-242-C
SRS =atin 9
48,3 A14/0729-249 48,3x2.6
- — d
& 3|
‘. |
w
<3|

satin  A/0727-242-S 9
polish A/0727-042-5-L 7

173



EEERT) -atin A/0714-042

Lp42.4x2 |

. m =atin | A/0715-242

A""".“\

-

S

042,4x2 |

140

12-

=
. Aj/O720-242
=satin
A14/0720-242 Aa gii/

42,4 |

EETE] catin  A14/0721-242-L
174



EEERT] satin  A/0135-000

satin  A/0135-042
polish A/0135-042-L
INSES] =atin  A14/0135-042

EEEZ] =atin a/0136-000

1

satin A/0136-042
polish A/0136-042-L

$6,5

175




20

EEEZ] =sin ioiss000

8

20

o
g3
=

3 e
n o
5 ¥
< <
.4..4.
o
= =

48.3 A14/0155-048

20

m satin A/0155-042-B

176



0-45°

ol
| S
. o
i //A\\ ?
? C 1Y o
! © &
| ]
= W Y
1 = &
L4
L’f_‘ 42,4x2 |

m satin | A/0722-242

———

60 -

| 42,4 A/0708-042:B
satin | 483 A/0708-048  fo.2il/
424 A14/0708-042

177



@

33,7x2,0
42 4x2,0
AISI304 42,.4x2,0
=atin  48,3x2,0
48,3x2,0
42 4x2.0
AISI316
48,3x2,6
33,7x2,0
EELEY 404x20
=zatin
48,3x2,0
AISI316 42 4x2,0

30x30x2
. 40x40x2
AISI304 . . 40x40x3
. 50x50x2
| 60x60x2
AlsSi3ie A0x40x2

[

B

A/5735-233-R
A/5735-242
A/5735-242-R
A/5735-248-R
A/5735-248-R1
A14/5735-242-R
A14/5735-249

A/5736-233
A/5736-242
A/S736-248
A14/5736-242

A/4735-030-R
A/4735-040-R
A/4735-041-R
A/4735-050-R
A/4735-060-R

A14/4735-040-R

D42,

10

PR B R = R

4x2 (v-{|
w.

=

@123

EEE satin  A/5738-242-12

178

33,7x2,0
42,4x2,0
42,4x3,0
48,3x2,0

EEER =atin A/5737-242

7

A/5734-233
A/5734-242
A/5734-243
A/5734-248

[N

28 _

EEEZ] =atin A/5739-242

D42,4x2 _ ”l

(vs]

Z

Vn

m atin  A/5740-242-12 AW

2123



T
1
flat A/0818-000
flat A/0818-000-8
safin  flat A/0818-000-C
42,4 A/0818-042
48,3 A/0818-048
flat A/0818-000-L
polich 424 A/0818-042-L
42,4 A/0818-042-B-L
satin 424 A14/0818-042-8
-3
21
| AL 206
1
-t |
| B
| @14 %
B_ 1
] M8
EEE =t A/0810-942
[ I
m
o1 | L
o,
i M
A/0812-068 @10
A/0812-068-S 12
| A/0812-068-S1 14 75
A/0812-068-M5-5 R
A/0812-075 12 75
A/0812-100 100
A14/0812-068-51 14 75
Mé
!
@12 _/
3
/S |

EEEL =stin A/0814-115-M8
179



214,
Mé

|
120

M8
INIEDER catin A/0816-075 MW
T
@12
=
0
-J-.L--MS
A/0813-075-12Z 75
A/0813-100-122 100
A8l la2 120 |
A14/0813-100-12Z 100

.I- H

D1

A/0811-068
A/0811-068-51 14
A/0811-068-52
_ A/0811-068-53
; A/0811-075-125 12
A/0811-120-125
A14/0811-068-51
' A14/0811-068-52

AISI304

75

52

14

| ey

A-DIN 7991-A2 M&x8

A/5734-242 A/5735-242-R A/5736-242 A/5737-242

180

10
a8
Mé
14 14x14
M8

INEIEREY satin  A/4811-040



@20
Mé
MI10

PYSECEN =atin  A/O14 new

~ : |

B Y
Mo

b A/0708-42-55-35

. | 33,7 AB/33-55-35-B 44,5 28
AISI304 BREETT -
42,4 A6/42-55-35-B 55 32 | 4Oqr

13,6

AN

& 42,4
@55

181



AISI316

satin

polish

33,7 A/1800-033
42,4 A/1800-042
42,4 A/1800-042-012
48,3 A/1800-048
42,4 A/1800-042-L
42,4 A14/1800-042
48,3 A14/1800-048

Alsi304 [
satin
AlSI316 -

AISI304

AlISI316

A/1800-000
A14/1800-000

42,4 A/1890-042

48,3 A/1890-048

42,4 A14/1890-042
48,3 A14/1890-048

EEEQ =atin  At1a/1870042

182

21

23

A/f301...

A/303...

1

A-DIN 7991-A2 M&x8

D42 4




.. A/1890-000
M 3t 4/1890-000-8

. flat A/1880-000
AISI304 =i
- 42,4 A/1880-042

EEED) =atin  A14/1870-000

33,7 A/1800-233
AISI304 = 42,4 A/1800-242
: 48,3 A/1800-248

AISI316 | 424 A14/1800-242

AISI304

A/1800-200
satin  A14/1800-200
AISI316
A14/1800-200-B

31,5x24 65 65 JEW

wpes | | L85

©
@

63

183






INCELY satin

-+

A/08...

AlSIZ04 R

I |N o




186

D42,4/d

=satin

polish

satin
polish

AlSi316 EEEITY

A/0825-042
A/0830-042
A/0830-042-zcrew
A/0835-042
A/0825-042-L
A/0830-042-L
A/0835-042-L
A14/0830-042
A14/0830-042-L

A/0826-042
A/0831-042
A/0831-042-L

A14/0831-042

A/0822-042
A/0832-042
A/0832-042-L

A14/0832-042

10
12
12
14
10
12
14

12

10

12

12

12

1x

Aj0B23-042
satin
AlSI304 A/0833-042
polish A/0833-042-L

UIERER satin+ A14/0833-042

10

12




D42,4/d

A/0840-042
A/0840-042-B

polish A/0840-042-L 16

A14/0840-042-L
AISI316 W1
A14/0840-042-L-B

g ®25 L 225 _

m satin  A/0842-042 16 Ak ES =atin @ A/0841-042 16

187



=

©483

—
|
!

_ A/0830-048 10
satin
A/0840-048 12

IWEELEY cotin | A/0833-048 10




m =atin  A/0840-043 16

189



polish

AISI316 i

AISI304 BEEUT

AISI316 BT

polish

AISI3 16 EEEIT

190

A/0825-000
A/0830-000
A/0835-000
A/0830-000-L

A14/0830-000

A/0826-000

A/0831-000

A14/0831-000

A/0822-000
A/0832-000
A/0832-000-L
A14/0832-000

10

12

14

12

12

12
12
12

A/0823-000

A/0833-000
polizsh  A/0833-000-L
LIRS catink A14/0833-000

10
12
12
12




2 A/0840-000
n
A/0840-000-B 16

polish  A/0840-000-L

usoos [P AR

'—»

m satin  A/0842-000 16 m ‘zatin  A/0843-000 16

191



"42 4 A/0855-042
flat A/O855-000

AISI304 [ET IR
" 42,4 A/0856-042

. flat A/0856-000

12

14

=atin A/0832-012-0

A/0830-012 12

AISI304 EEY A/0B30-014 14
A/0830-016 16

AlSI304 EE T A/083-PIN |4~0W
192

.“\;—

\\-\% %

0123

;.d10 . A/0825-000
d12 = A/0830-000
di4 | A/0835-000

”d16 . A/0840-000 -

s B e e 8

A/0823-000 A/0822-000
A/0833-000 A/0832-000 A/083-PIN

A/0843-000 A/0842-000 A/083-PIN

also i for AlS1 304 polish and AISI 316 satin.

A/0825-000
A/0830-000
A/0835-000

A/0840-000




Ml VERTICAL

34
UMY 7
o O
(oY | I Y] - L =
R A Y
s
| flat A/0851-000
tin 33,7 A/0851-033
42 4 A/0851-042
L L
Ne
T A ©
& c\ﬂ | [
9 = 3 \
- |
| 424 A/0850-042 3
atin | 42,4 A/0850-042-B 35
| flat A/0850-000 32 |Togr
d 612

P25
A
N
)

SN S
7 i
19

 A/0746-012 12

~ A/0746-016 16

33,7 A/0502-033 30

: 33,7
n 42,4 A/0502-042
42,4 Af0522-042 424 Aew

193







FIX

=
1
33.7x2,0 A/0305-233 36
42.4x2.0 A/0305-242 30
48,3x 2,0 A/0305-248 35
42.4x2,0 A/0305-242-L 30
48.3x 2,0 A/0305-248-L 35
42.4x2.0 A14/0305-242 45 | e
42.4x2,0 A14/0305-242-B 30
42.4x2.0 A14/0305-242-L 30
48,3x 2,0 A14/0305-248-L 35
[
o
1
33,7x2,0 A/0303-233 25
. 42,4x2,0 A/0303-242 30
SR 4600 A/0303-2428 31
48,3x2,0 A/0303-248
polish 42,4x2,0 A/0303-242-L 30
. 42.4x2,0 A14/0303-242
sakin 4,
48,3x2,6 A14/0303-249 35
polish 42,4x2,0 A14/0303-242-L 30
M
N
Py |

133.7x2.0 A/0301-233 25
33,7x2,0 A/0301-233-8 20
satin  42,4x2.0 A/0301-242 30
| 42,4x2,0 A/0301-242-B 31
48,3x2,0 A/0301-248 35 +
polich 42,4x2,0 A/0301-242-L 20
42.4x2.0 A14/0301-242
NSRS satin  42.4x2.0 A14/0301-242-8 44 A/1890-...
48,3x2,6 A14/0301-249 35

195



196

FIX

“satin

LUkDEY polish

AlSI316

33.7x2,0
42.4x2.0
48,3x2,0
42.4x2.0
33.7x2,0
42.4x2.0

48 3x2.0
42,4x2,0

33,7x2,0
42,4x2,0
42 4x2,0
48,3x2,0
42 4x2.0
48,3x2,0
48,3x2,6

133,7x2,0

42,4x2,0
48,3x20

A/1305-233
A/1305-242
A/1305-248
A/1305-242-L
A/1305-233-N
A/1305-242-N
A/1305-248-N
A14/1305-242

A/0300-233
A/0300-242
A/0300-242-B
A/0300-248
A14/0300-242-B
A14/0300-248
A14/0300-249

A/0307-233
A/0307-242-S
A/0307-248

42,4x2,0 A/0307-242-L

42,4x2.0
48,3x2.0
48,3x2.6

A14/0307-242-S
A14/0307-248
A14/0307-249

38
48
57
48
38
48
57
48

25
30
35

30

35

55
69
81
69
55
69
81
69

| ——



FIX

33,7x2,0 A/O308-233 24
zatin
42.4x2.0 A/O308-242 30

I
1
o |
33,7x2,0 A/0304-233 25
42 4x2,0 A/0304-242 31
48,3x2,0 A/0304-248 35 | geew
42.4x2,0 A/0304-242-L 29
42 4x2,0 A14/0304-242 31
48,3x2,0 A14/0304-248 s
48,3x2,6 A14/0304-249 T
I
x
1
33.7x2,0 A/0309-233 24
‘zatin
42 4x2,0 A/0309-242 30

197



42 WB/D42-45°
natural 50 WB/D50-45°

42 WD/D42-45°

Qo
~
J

natural 42

WE/D42-D55-klb
WD/D42-D55-kib

EEI.

)

_P424

“les

L

| A20/0790-042-R

WB/D42-90°

42
45 WB/D45-90°
natural 50 WB/D50-90°
42 WD/D42-90°
50 WD/D50-90°
»
PVC  A20/0729-042-S

e

A20/0790-042-R A20/0729-042-S

A-PH 5x35

A20/0000-042

Tt WB/D42-L...

WD/D42-L...

A20/0000-042

bomcamiammmammn -

A20/0790-042-R

A-PH 5x35

A/0302-242

- WB/D42-L...
WD/D42-L...

)

198




42,4x2,0 A/0302-242-L

polish 45 4400 A/0302-242-BL 27
| 42.4x2.0 A14/0302-242

satin

AISI316 48,3x2,6 A14/0302-249 30

polish 42,4x2,0 A14/0302-242-L 27

=atin  A/0312-242-B

polish A/0312-242-L

satin  A14/0312-242

. 33.7x2.0 A/0302-033 38

42,4x2.0 A/0302-042 44

33,7x2,0 A/0302-233 22
‘satin | 42,4x2,0 A/0302-242 27 |1
48,3x2,0 A/0302-248 29 e

PO A

D424x2

@

199




S

7 42,4x2

35 |

~WB/D42-L...
- WD/D42-L...

. A7/42-55-...

A20/0790-042-R" o,

A-PH 5x35"

200



i

M5 _
1 A ! L
| L= i T o
& | - o = =
l [l = = I i R =
: 24 | 38 B~ R 36 ._| *
10 A/0302-010 14 Aew [ISELYH satin  A/0302-012:8
12 A/0302-012
14 A/0302-014
12 A/0302-012-L 216
12 A14/0302-012
AISI316
12 A14/0302-012-L
| |
1 1 1
| | .
o 1 — | A |4l 2
| 4 } | =1
i T 1 !
LR I [ I .8 | 1
10 A/0302-010-5 12 _ m ‘zatin  A/0302-016
AISi304 Loin
satin 12 A/0302-012-8 :
14
AISI316 12 A14/0302-012-8
T
|

i
Loz|

=t
di
o

R -atin /0313012

$1261,5

satin | 12 A/0302-012-C ew
201



! !
=
o 5 =
i T I
ks L =
/’II
10 A/0012-010 80 12
satin | 12 A/0012-012 102
14
12 A/0012-012-B 70

' alC—1g-

— -

12x1,5 A/0013-012
14x1,5 A/0013-014

FIX

10 A/0220-210
salivi 12x1,5 A/0305-012 9 - =atin o5
16x1.5 A/0303-0186 " 12 A/0220-225

202



FIX

AlISI304

AlS1316

satin
AlSI304

polish

satin
AlISI316

polish

m satin  A7/42-11-A

12x1  A/0041-011 ew
- A/0041-012-B
A14/0041-012
e 1
33,7x2,0 A/0790-233 5
42 4x1.5 A/0790-241 .
42 4x2 0 A/0790-242
48.3x2,0 A/0790-248 [}
42 4x2 0 A/0790-242-L 5
42 4x2 6 A14/0790-242 4
483x2,0 A14/0790-249 5
42 4x2 0 A14/0790-242-L 4
11
-t
89
1
i |

hew

8
10
12
12
14
16

satin

A/0040-008
A/0040-010
A/0040-012
A/0040-012-B
A/0040-014
A/0040-016

40

12
12
14
14
16
18

3x30°
1x45°
1x45°
3x30°
1x45°
1x45°

 33,7x2 A/0791-033
~satin
42 4x2 A/0791-042

70

203




4- 7 I(EEXI[:’)S




33,7x2,0 A/5729-233
133,7x2,0 A/5729-233-B
satin  424x2.0 A/5729-242
| 42,4x2.0 A/5729-242-B
48,3x2,0 A/5729-248
polish 42.4x2,0 A/5729-242-L
42,4x2,0 A14/5729-242
48,3x2,6 A14/5729-249
polish 42.4x2,0 A14/5729-242-L

33,7x2,0 A/5732-233
-42,4x2,0 A/5732-242
-48,3x2,0 A/5732-248
483x2 0 A/S5732-248-B
polish 42,4x20 A/5732-242-L
Satm’ .42,4x2,0 A14/5732-242
polish 42,4x20 A14/5732-242-L

33,7x2,0 A/5730-233
42.4x2,0 A/5730-242
148,3x2,0 A/5730-248
48,3x2,6 A/5730-249
polish 42,4x2.0 A/5730-242-L
satin 42,4x2,0 A14/5730-242

satin

i 112x1,0-15  A14/0014-012
satin  16x1,0-20  A14/0014-016
142 4x2.0-2.6 A14/0014-042

w w®m e m

45

17
23
23
23
21
21

7.5

33,7x2,0 A/5728-233
42,4x2,0 A/5728-242
42 4x2,0 A/5728-242-A
42,4x2,0 A/5728-242-B
42 4x2,0 A/5728-242-C
42.4x3.0 A/5728-243

33.7x2,0 A/5731-233
42 4x2,0 A/S5731-242
42 4x2,0 A/S5731-242-A
42 4x2,0 A14/5731-242

OEER =atin | 42.4x2.0 A/5733-242

o A/O736-242
42 4x2.0 :
m satin 42620 p14/0736-242

[>T U TR S s R o B 3]

Lyoan Ly Lo

21

205



206

N

33,7x2,0 A/0739-233

YL =atin 42,4x2.0 A14/0739-242

Quality Finish & art

natural

_ 55 57
_ | 42,4x2.0 A/0739-242-5 . -
polish 42,4x2.0 A/0739-242-L

[ 33,7x2,0 A14/0739-233 55 57
66 66
48,3x2.6 A14/0739-249 75 77

42 WB/D42-86° 97 90

50 WB/D50-86° 93 95

2 WD/D42-86° 97 90

50 WD/D50-86° 95 95

a

EET] atin A/0739-242-R

SR satin A/0737-242

D 42.4x2

42 402

W R

=



AISI304

AISIZ16 |

337 A9/33
424 A9/42
48,3 A9/48
424 A14/9-42

42 WA/D42-G2
50 WA/D50-G2

o art.
15 WOOD/D15x40
20 WoOoD/D20x100

natural

a7
55
65
55

21
25

38
44
52
44

27

38

30 |

=

40
100

WB/D42-G55
WD/D42-G55

~ natural

inizh 7 art

42  WB/D42-G2

AT/42-11-A

20

50 WB/D50-G2 22

natural
42  WD/D42-G2 20
50 WD/D50-G2 22
WooD/M8-D 8
WooD/M10-D 10
WooD/M12-D 12

207



| 33 A/1732-033 ' 33 A/1733-033 6
40 A/1732-040 | ARy satin | 42 A/1733-042 7
48 A/1733-048 8

42 A/1732-042
48 A/1732-048
50 A/1732-050
60 A/1732-060
80 A/1732-080
A/1732-100

A/1732-100x6

120 A/1732-120x6

42 A/1732-042-L

polish 48 A/1732-048-L
50 A/1732-050-L

raw 42 A/1732-042N

140

33 A/1732-033-12 125 | 4ew FSELEY  =atin  A/1734-040

satin 40 A/1732-040-12 12,5 | MeW
50 A/1732-050-10 10,5

35
.| .
el
151 3
-
=8
BRI |
[T =atin  A20/0720-042-R
60
e
0 v N
< . ok Ao
o _
=t gt g
rs
ALUMINIUM raw 42,4 A20/0000-042 60 50

208



RN 12c1.5 A10/0010-012
Baetad > 16.1'5 A10/0010:016

10 A10/0015-010
12 A10/0015-012-A
14 A10/0015-014
16 A10/0015-016
12 A10/0015-012-L
14 A10/0015-014-L
16 A10/0015-016-L
12 A14/0015-012-A
14 A14/0015-014
16 A14/0015-016

RS oray 424520 AHAZENG

PVC gray  40x40 A9/40x40-PVC

21
15
21
15
21

w

@ @ o m

Al

Al

D
. 12x1,01,5 A14/0014-012 3
SESEY satin @ 16x1,02,0 A14/0014-016 3,5
| 42,4x2,0-2,6 A14/0014-042 7.5

g
Aﬂ) ;
.. 10 A10/0017-010
o
aaed =" 15 at0/0017-012 18 22 2
12x15 A10/12-PVC 4
PVC  9ry i6x15 A10/16-PVC 5
H
D
PVC  gray  12x12  A9/12x12-PVC 1 Mew

209



210

satin

polish

satin

polish

A/0221-010
A/0221-2510
A/0221-012
A/0221-2512
A/0221-3012
A/0221-2514
A/0221-014
A/0221-016
A/0221-012-L
A/0221-014-L
A/0221-016-L

A14/0221-012

A14/0221-012-L

satin

15
20
25
30
40
50

A/0220-015
A/0220-020
A/0220-025
A/0220-030
A/0220-040
A/0220-050

20
25
20
25
30
25

25
20
20
25

20

20

na
w
g~

o
=
-
ra

ra
P
@ W m oW mo o

—
-
[54]
m

W

-

=zatin

polish

12
12
12
14

40
S0
S0
60
70
80
80
100
120
150
200
50
80

A/0224-2012
A/0224-2512
A/0224-3012
A/0224-3014

A/0220-040-R
A/0220-050-R
A/0220-050-R-B
A/0220-0680
A/0220-070
A/0220-080
A/0220-080-R
A/0220-100
A/0220-120
A/0220-150
A/0220-200
A/0220-050-R-L
A/0220-080-R-L

20
25
30
30

15,5
22
27




Finizh d art

[Bia== polich 12 B/0221-2512

art.
WB/D20-d8
WB/D20-d12
WD/D20-d8
WD/D20-d12

H

12 B/0224-2512

| Brass  polich

25 23 7
L
- H
_ jd

D L H

19 9
20

18 8

19 9
20

18 8

25

22

211






s ol
.’\._
L
W
D %
337 103 17 A/0512-033
73 11 A/0515-042-B
83 10 A/0516-042
88 12 A6/90x42x13-5
42 4 88 14 A6/90x42x13-B
satin 103 17 A/0512-042
103 21 A6/105x42x25
123 24  A/0513-042
103 17 A/0512-048
483 L . =
103 22 A6/105x48x25
/1050 _ 12 435 12 A14/0517-012
zatin
S0 03 17 Amalet50 42 1035 17 A14/0517-042
73 11 A/0515-042-L
88 12 A6/90x42x13-L
polish 42 4
103 15 A/0512-042-B-L
103 17 A/0512-042-L
103 17 A14/0512-042
42 4
103 22 A14/105x42x25
_ 103 17 A14/0512-048
=atin
483 103 23 A14/105x48x25
123 16 A14/0513-048
50,0 103 17 A14/0512-050 Aveil/
polich 424 103 17 A14/0512-042-L

o - 88 " AB/90x00x13-5
o - 103 17 A/0512-000

43 12 A/0514-012-B
58 " AE/80x12x12
12
satin " A/0515-012
AlSI304 T2

13,5 A/0515-012-B
14 43,6 " A/0514-014

satin  A6/018-042 polish 12 43 12 A/0514-012-L

e
polizh A6/018-042-L e AlSiz16 BEEEUTY 12 43 12 A14/0514-012

213



214

Quiality

aisizos
AISI316 [

A/0942-242

A14/0042:242  Ave

A/0941-242x55 55 .
I A/0941-242x120 120

33.7 A/0940-033-N
42,4 A/0940-042-N
42,4 A/0940-042-N-B
48,3 A/0940-048-N-B
42,4 A14/0940-042-N
48,3 A14/0944-048-N

Ikl EY raw  A/0943-100x42

70
11 ;
100 9

11
120 90

Pa2,4x2

m|n||r|u||n|m|||||||||

a

| ¢
i T e l-! T
[ 1 [ axpe |
L @100 J

P42,4x2

| " 1

(.

| ;

‘ : <
o= :

2 T 11 1
AT {_
| @100 |

{2
3 [
&
el
LN
% ’
10_|
1
= S|
= 1
P
i
85 | |
____j_]g._




RUBBER
#

e
3 g
L P p=2
:\.‘9"
&
55 L
(o]l y Finizh art.
TS wr4/osssosz
.
Quality Finish art. D d D1 t |
A/0948-042 100 11 75 6
A/1951-85x42x4-N 85 9 B8 4 P
A/1951-100x42x4-N 100 11 72 4 =
' «»
Du:li.i'-,r Finizh art. D D1
1950-100
o 100 72
~ A/1950-100-B
A/1950-120 120 87 |FEW

art D d D1
A/1952-85x42x4-N 85 9x20 68 e
A/1952-100x42x4-N 100 11x25 72 MW

215



216

Quality Finizh

AlSI316

art

| A6/85x42x6-S
AG/100x42x6-B
 AB/100x42x6-S
AB/120x42x6-5
 AB/B5x42x4-N
 A6/100x42x4-N
|A14/100x42x6-5

85 8BS

100

100
120
85
100
100

11
11

11
11

Quality Finish

art.
A/0946-85x

A/0946-100x4-N
A/0946-042-N

85

100

9x20

11x25

Quality Finish

art.
A/1954-85x42x4-N

D

85

A/1954-100x42x4-N_ 100

D1
68
72
77

(< REI S B S« - R« - T A = -

[ RS

H

3xd

t
o T
4xd
TG
4.—" -




Quality Finish

D axb D1
85 ;15 688 4

Quality

art.

Finish

AISI304

A/0112-LED-PLATE

i

©

s s |

REyAi

s

i

217



742, 42

|25 max.

AB/42-62

Quality Finish art
m ﬂﬁl‘l A/3501-042

Quality Finish art
EGE]  catin @ A/0501-042

M12

_"I

760

218



Finish

| Quality

art.

| 42.4x2 A/0506-242

&

) art. D
33.7x2 A/0945-233 71

42 4x2 A/0945-242-B

42 4x2 A14/0945-242-B

AlSI316

42 4x2 A14/0945-242-C 80

¢J

Quality art.
AISI304 B A/0507-242
satin 42,4x2
AlSI316 A14/0507-242

ol

F h Z art

| =satin @ 42 4x2 A/0509-242

30

35

38

21

27

27

6.5

85

#142,4x2

r———

275

30

H2 _

. S

_ fa2.4x2

Cﬁ

£9.8
3 ;
/
s
5 0 I N |
o
=
LT
Al
3 |
|| |

I

82

219



220

AISI304 BEEETT 42 4x2 Af0315-242

AISI304

AlSI316

polish

polish

42,4 A/0504-242

48,3 A/0504-248
42,4 A/0504-242-L

42,4 A14/0504-242

33,7

42,4

48,3

42,4

48,3

42,4

483
42,4
483

A/0505-033
A/0505-033-B wewD)
A/0505-042
A/0505-042-B
A/0505-048
A/0505-048-B
A/0505-042-L
A/0505-042-B-L
A/0505-048-L
A/0505-048-B-L
A14/0505-042
A14/0505-042-B
A14/0505-048
A14/0505-042-B-L
A14/0505-048-L

50
56
50
50

85
85
95
80
100
80
95
82
100
100
82
80
100
82
100

30
30
30
25
30
25
30
25
35
25
30
25
28
25
28

5,5
6,5

6,5

65 |

5,5
6,5

5,5

- alo

I




Quality Finish art.
Fe il 8 AB/BOx5-M16

I\.\ 's

NEELEN satink| A/WT718-242

e

40x40x2

136

& L %
ol TIN3
g AR E
~ ¥l 1
°d‘® L7778 4‘\5 I
75
100x100
a};- )
0 42,4x2 ) g
@14
! g
8 3
1
@42, 4x2
0
w
&
&
]
= +
(11s]
%]
-
i €L U
WB-VR90-4D12 A/W718000  WB-D42-post
A/W718-242

@

221



222

art

in 42,4 A6/021-6-A | g~

polish 42,4 AB/021-6-L |

42,4 A14/021-6-A |

CQuality Fini;h_ e art.
33,7 A6/021-033
tin 42,4 A6/021-6-A/B

48,3 A6/021-048

Quality Finish art. |

Quality Finish @ art.

AlSIZ04 . AB/024-0UT | e
satin 42.4

AISI316 | A14/024-0UT

@100

@100

@100




A6/024-IN
A14/024-IN

ECONOMY variant

H

A14/021-6-0UT-11x20 A14/021-6-0UT-11x20-8 A14/021-64N-11x20
!
Y ’
P10,
@33
A/1732-033-R25
Quality IFini:h art.

A6/48

AB/021-6-A

A-DIN 7991-A2 M8x110 A-DIN 1587-A2 M8

i Quality

Finish D art. d
' 33 A/1732-033-12

o 125
'satin 40 A/1732-040-12

50 A/1732-050-10 10,5 .

AB/005-4W

A6/005-4

+ P + Al + 6D

A/1732-033-12

A-DIN 7991-A2 M8x110 A-DIN 1587-A2 M8

223



(=1 AISI316

42 4 AB/2x42
42 4 AB/2x42-150
424 A14/2x42
48,3 A14/2x48-150

AISI304

Quality

EEE eatin As/42-130x60

=atin 42,4 AG/004-6
polish 42 4 A6/004-8-L

224

120
150
120
150

1
11
11

@100




. 42,4 A6/42-180x70
42,4 A6/42-180x70-B
42,4 A14/42-135x54

33,7 A/3507-033
42,4 A/3507-042

42,4 A14/3507-042
48,3 A14/3507-048

v b

180x70

135x54

36

36

35

11x20 81,5

11x13

46
50
50
55

70

225



20
70

AISI304 Bz s 15
satin  A/012-120 120
AISI316 A14/012-45 45

ml mﬂ A;o12-9\5l. W —Z!

_ A/012:07

226



227



4 SQUARE
& SYSTEM




= -
@ - B
y
©|%g %
C %
140x2
) art. H
_ A/4718-000 81
| satin  A/4718-000-8 80,5
A14/4718-000 81
B
& 9%
o
& XD 5.5 f %
J | 14 8 5
— 1 amss)
40x2
 A/4718-042 Tofn
el | Ata/a718042
45 25
' ! Jl2x@55
©
C -:
. [
| 1140x2, '
\  A14/4710-000
PR e
65 o
K PB55_| E
2
JIL :
c140x2_|

Quality Fimish art

INSESEN =atin | A14/4710-042

229



_._AI_._ 21
| | L2x0es

81

L1 40x2

A/4710-800
RATIOR008)
A14/4710-800

L
: 402
Quality h art.
o _A}4710-B- 42
satin  A/4710-800-B
A14/4710-842

965
> QET;)
"~ ] o
I oy
2 S
e ;
S N il
bt \ T
1.5
L ._| L5 89
60
Quali Finish art.
[EERE =atin - A/4111-000
@ =
= o
1 |_.§_
—— g : _[.- 92 =
40
Quality art.
A/4111-042

230



Quality  Finish

Alsizoa [EETS

A/4110-000

[YEELREN =atin  A/4145-042 Aew Q‘

AISIZ04 _saﬁn_ A/4111-0001ED  Jre&il/ m

| 2x$ 6,5
o
' D65
mpej
40
60
ey
T T 2xp65
cHEE
D65
@

&8

64

T s |

L xD65

xP b5

!

P
| -2
S e
S/
80 =
24
i
L-:-d
w W
— I~
3
O
[ ]
1
80

231



" T 9

A-DIN 7991-A2 M&x8

o 14x14 +

e e

A/1800-0... A/1800-000 A/1890-042 A/1890-000

[IEERT] =atin  A/4811-040

+

1 |

A/4811-040 A/4812-040

014
+
e _._.'F._...__ : A/4735-040 A/4732-040 A/1734-040
AlSI304 L satin  A/4812-040
= v/

A/4735-030-R
A/4735-040-R
A/4735-041-R
| A/4735-050-R
A/4735.060R
A14/4735-040-R 40x40x2

| [
& |
1 <
n |
65
Ll
40x40
95
Finish art, H
A/4505-040 28 Ao
satin A14/4505-040 29
A14/4505-040-B 23

232



040

art.

A/4732-030 30x30x2 ki | A/1734-040
| A/4732-040 40x40x2 B/ 1TASUA0N
A/4732-040-B 40x40x2 .
in  A/4732-041 40x40x3 e
A/4732-050 50x50x2
 A/4732-060 60x60x2
AISI316 - A14/4732-040 40x40x2 4
axb
{7
O
( h art. 7l axb art
NN . A10/4023-012 10x10 14x14 | satin | A/4732-012
AlSIS04 | A10/4023-12x12 12x12 16x16
D e
= |
L a ]
1 a ! i Qen LY
A/4810-000 10x10
20x16
A/4810-000-C 12x10 20 Mew
A/4830-000 12x12 23x16
P\EIEGES =atin  A/4830-000-B 12x12 31x22 22 MeW
A/4821-000 15x5
A/4822-000 15x5 25x25 25 left
A/4823-000 15x5 right

233



234

B =in waoro0n2

AISI304 [N
AISi16 e

- A14/4301-040

010

D) =¢

75

N

o112

o016

71 -

40x2

25

0 40x2

040x2

[140x2

30

C140x2




Quality  Finish art.
AlSI304 Ll

Ou
i

Alsizo4 |
AISI316 | ~ A14/4302-040

25

26

P
1119
(]
O 40x2
50
;
m} n
(o]
1
C140x2
Q
@

[140x2

11 40x2

235



236

[0} A 5 ——
1
40 x 40
= | b
| A/4511-9340 93x93 25
[EELF)  A/4511-9640 96x96 20
' | A/4511-040 Lo
: 108x108 24
AISI316 A14/4511-040
40x40
e R B P
( ;
5
:
93
| Quality art
AISIZ304 n A/4513-9340 | new
O O
-8R
- pod
| |
70
. 105
A/4942-040
A/4942-040-N
iy
=]
B

70
_£100

040
L
AL

b:f*d:) ¢ wl
—2— )
T i i

40x40x2
C =]




Quality  Finish art.

AISI304 ” A/1983-85 AEW

axb c

A/1981-088x40x4-N  88x88 65 Jugil/

A/1981-092x40x4-N 92x82 &7

A/1981-100x40x4-N 100x100 70

—

92x92 72x72

100x100  80x80

100
40

=1

140

y&

[+

237



238

Fe raly = AB/95x95x5-M16

AlSI304 AG/005-4
=ati
AlSI31e

n
A14/005-4

Finish art

AISI304 sat‘l'l A6/40-120x50

e

95

75

24

S5

-

75
—-2—4-.

-

M1é

100




Ma

\

1 AB/40-120x50-plate [ Ae

(ACELE]  catin - AG/26x26-31

239



=
G o i

f
i
.
d
s

e

B

e

b
'

.-

3 ';"ﬁ' e H







9.3 toors

256



9.4 s’

272

5 SWING
L DOORS

.

-

JENEEY 5.6 0
Tl TR R .-

=
- = = ‘;" d -
- S £ o
S gy N :
B I B |
. B

284






1.0

RAL AL/PR1-S-EB-1400 10,76

ALUMINIUM  antracit

1x LED zet

1% 1x 1x 2x

AL/PR1-S-EB-1400

800

42

1400

-+

hd

oog

20

260

4x260

1405

245



246

136

- AL/PR2-N-E-1750

o

| ELOX 17,52 1,5
AL/PR2-N-E-2500

ALUMINIUM

CERTIFICATED: Glass TVG/VSG

AL/PR2-N-E-1750

AL/PR2-N-E-1750 12 1%

17,52 - 21,52

1760/2500

max.1100

1750/2500

1x 1x

250 250

Cce



1500/3000

200

200

o

(2]

247



248

ALuMNM C

ELOX

CERTIFICATED: Glass TVG/VSG

AL/PR4-N-E-3000

x 21,52

1.5 v new

TP

12x

@12

min. 100

3m 3m 2x3m 7x 3m
21,62
2T
D12 A

el

~ ) i
g < )
i v 8
¥ &)
c nl
£ 7

1000




150
Eos Ia
[=] Al14/PR12..
g /
h
o
8 v
_
L =

Quality Coler art, a b h N
- GS/12,76-140x100-clear Lo

GS/12,76-140x100-blue
1400 1000 800930  A14/PR12-1000-M12
VSG/ESG GS/12,76-140x100-milk
GS/12,76-140x100-yellow
-r_;sn_z;?a-'is_o;dzodw 1800 1200 920-1080 A14/PR12-1250-M12
150 1050 o 1050 ,
B
o
o
[=]
@
| a
== =

Quality Color art. a b h N

VSG/ESG-G_S{_12,TB-Z4_eO'x_‘_I20-n!_e'ar- 2400 1200 9201080 A14/PR12-1250-M12

@.
o
Q
>
<
(S

-l

Quality Color art.

VG - GS/10,76-140x90-TVG

249



STATIC STUDIO

B800-930

Msﬂh GS14/PR-R3-M12-set/glass 2x 2x 2x 2x 1x

GS14/PR-R3-M12-cet GS14/PR-R3-M12
GS14/PR-R3-M12-set 2x 2x 2x 2x

. GS14/PR-R3-M12 1% 1x 1% 1%

250



&
o~
R
=
Eel
- 100- 210 i
mizo
i T
=7 = &
2| o
1
1
Quality Finish art.
AlSi316 salin A14/PR-2xE0-M12
L
- Lo
I s . 30 |
al e |
1’| | ‘l i
| ‘ o -
5 5
= %
B o
=| s
Finizh art L
A14/PR12-1000-M12 1000
A14/PR12-1250-M12 1250
A14/PR12-1500-M12 1500
A14/PR12-2000-M12 2000 e

874-1752

&

251



800-830

AISI316 B+ :-;EGS 14/PR-R-cet/glass 2x 2x 2x 2x i

Ix 1x




A14/120-R A14/120-R-B

. A14/120-R
AISI316 B8
- A14/120-R-B

LSRR satin A14/70-R

A14/PR12-1000-M12
A14/PR12-1250-M12
A14/PR12-1500-M12

A14/PR12-2000-M12

1000

1250

1500

2000

e

Fod | [

5
12.76-17 .52

L

M12 - LEFT

AT Ceé0

30

—— T

253



5 _ 2 SPIDERS



(AEELES catin - GS/ZP-101R-95 66,5 145 30 40 5 616
gloss £
[}
1

art. h D D1 t alz

satin  GS/ZP-102R-00-95 66,5 145 30 40 5 6-16
glaoss T

Quality  Finizh art. h %] D Di t  glasst

satin GS/ZP-102R-180-95 66,5 145 30 40 5 616

Sk

h D

GS/ZP-104R-95 66,5 14,5 30 40 5

255






Effect art. glasst glazs max. (kg)

M- 0 ELOX  GS/P8101-1-A-set 8-10 80

Glass preparation

Components

. £ 375
Q Q2
e
i
o~
*
3000
250 500 , 500 | 500 500 500

s = min. 725 - max. 1400

5-2x45

:é

257



Components

| Cuality Finish Effect art. glasst glass max. (kg) STOP |

ELOX GS-AL/P8102/N/E-set 8-10 20 —Di ‘

Glass preparation

H+35-5 10

H+35-5 (10)

SLIDING DOORS

258



Components

20-35 80
uw
(=}
L
(Mgl
S
u
Lh
[Wa]
+
I
2000
_ 0 - 450 -- 150 450 450 -
ﬂ H T T ﬂ
I_L_ _____________________________________________________________________________
A
s 35 e i

s = max. 1000

5-2x45

"“'"““:"““"““"“"‘"'-‘J

259



Components

Hewe

Effect

Accessories

o2 o
- 3 Q
Bp=-

art. GS-AL/P8105 GS-AL/LN8105/N/E GS-AL/LKB105/N/E

Quantity 1x 1x 1x

H+215-9

A e A A L A AR RS

3000 - 6000

260



o
i
@

ELOX GS-AL/P8106/N/E-set

GS-AL/P8106 GS-AL/LNE106/N/E GS-AL/LZ8106/N/E GS-AL/ZP-21x27 /N/E GS-AL/LK8106/N/E

1x

1x

1x

1x

1x

3000

GS-PVC/ZP-21x27-
12/N/T

GS-PVC/ZP-21x27-
10/N/T

GS-PVC/ZP-21x27-
B/N/T

Y

57

32

3000 - 6000

261



Components

Effect art glasst glass max. (kg) STOP

ELOX GS-AL/P8107/N/E=et 8-12 80

Accessories

:.Quantity | 1x 1x 2x | 2x 1 2x

40

Glass preparation

3 min. 80 3 126

2000

:_
9
°
z
=
=i

262



Components

A

].'

-
-l
e

-

elop

Effect art glasst glazs max. (kg)
ELOX GS-AL/PS8108/N/E-set 812 80
Accessories
> \\‘ : <M —
\\N\' 0O oe— % \
Y '
Quantity 1x 1x 2x 2x 2x 1x 2x2m

65
49

25

Glass preparation

min. 80 126

2000

263



3 operating moods: closed, open, automatic

AUTOMATIC
. Remote control / Dialkove oviadanie

A 3 prevadzkové rezimy: zatvorené, otvoreng,
automaticke
gy MOVETS
| Motion sensor / Detekcia pohybu
r— ¢ In case of motion detection, automatic mode
P
\ pripade detekcie pohybu sa aktivuje
MOVE-HS automaticky rezim
Proximity sensor
‘ L 4 The door is open by hand movement
L Dwvere sa otvoria pohybom ruky
MOVE-CS
Open button / Tlagidlo otvorit
[ 3 The door is open by pressing the button
Dvere sa otvoria stlagenim tlacidla
MOVE-BT
GS-AL/ZP-46x50-N-E-MOVE - 800 NeWw
o GS-AL/ZP-65x70-N-E-MOVE-1 90-230 v 800 MeW
ALUMINIUM ELOX « 80 VAC50-60 24/5 120 &t 75
- GS-AL/ZP-65x70-N-E-MOVE-2 Hz v 1000 el
GS-AL/ZP-65x70-N-E-MOVE-3 v 1300  feW
595 595
'?T' o n //
I
2 o = 7
& ///
7
3 7 -
m / v
o2 T Yy
25 glass 8-12
- = e
~ o
1
=] o = 7
glass/panel-800 = 1711 mm glass/panel-800 = 797 mm
glnss/panel-1000 = 2111 mm glass/panel-1000 = 996 mm
50 glass/panel 1300 = 2711 mm B glass/panel-1300 = 1295 mm

264



265






Components

Quality Finish art glasst glass max. (ka) STOP

GS-304/P9101/S-set  8-12 120

47
22,

o _ Al

oloss t

Glass preparation
S

(35

163

143

50

z
®
&

50
OO

H+50-5 (101

500 500 500

§,
E

s = max. 1000

$-2x40

267



Components

Quality  Finish art glasst glass max. (ka) STOPR

G5-304/P9102/S-zet 5-12 120

47
%
7 .
= ; ; Glass preparation
K s s
o 7 ° ] g; - il
2 e 163 a9 o 143
1 ap '
] o
| ©
glass =

g 2000

o

8- & | 500 500 | 500

2 =y - a Y &

E' _._._..___._‘ig_. ................. __: ________________ _:.{w = — = S —
pe=i| '

@

s = max. 1000

$-2x40

268



Components

) W @
3

B B

HEGEY  <atin - WS/P9101/S-set 30-40 90

&

H+38-10

2000

269



Components

7]
i
()
(®)
a
&)
Z
=]
=
(73

270

Quality

Finish

art. glass t

alass max. (ka)

STOP

a0

_.I

Glass preparation

5

107.5

1075




GS/P8000
satin 2000 25
- A/25x2-2000

el

GS/P9100A1A

INGEGEN satin GS/P9100-zet oW
WS/P9100-1-

35

112,5

INELES  =atin - GS/PO100A1A

satin WS/P9100-14 N '
271



SHOWER
CABINS




Ou:Ii-iy Fi;i:h art, glasst bx I?___T_Qqqfcirgi
GS304/2P801/S 810 45d5  Nor.

GLASS t

Cluality  Finish art. glasst  bxh mounting_.
GS-304/ZP-904/S 810  45x45 glassfl

B
Y.

W
=
Q.
O
c
5
o
7]

GLASS CUT OUT "B"

9 4
15
§e
g
=
V]
30+ GLASS t
Quality  Finish ark. glasst bxh mounting
AEELEY satin - GS-304/ZP-906/S 810  45x45 gg:ah’;‘f

273



Quality Finish art. glasst bxh mounting

wall/

810  45x45 I

GLASS t

Quality Finish art. glasst bxh meunting
GS-304/ZP-917/S 810 45x45 9138/

: glass
o)
=
5}
% 9 8-10 %
g —-—'d—
e
T
(73]
Q =
$58
45 5 |
8
Quality _ Finizh art. glasst bxh mounting
: ' 810  45x45 ;E‘S'é
‘polish  GS-ZN/ZP-901/P/Cr

274



Quality  Finish = glasst bxh mounting

wall/

B8-10 45x45 glass

Finish

Quality

art. glasst bxh mounting

lass/
810 45x45 9
glass

GS-ZN/2ZP-904/P/Cr

7]

WITH GLASS CUT OUT "A+B" GLASS CUT OUT "A" %)
O
o
o
7]
ﬁTﬁE
Q e =
w b
(]

| Quality Finish

ad Slasst bxh mounting

glass/
810 45xa5 P

275



8-10

Quality  Finish

art. glasst bxh mounting

wall/

810  45x45 I

olish  GS-ZN/ZP-907/P/Cr

Quality Finish glasst bxh mounting

wall/
810 4545 o

B
| )

SHOWER CABINS

| Quality Finich art. glass bxh mounfing

glass/
810 45x5 QP

lish GS-ZN/ZP-917/P/Cr

276



Quality Finish art. L Quality  Finizh art

A/30x10x1,5-2000-L 2000 &M/ Mas-sm;zp-zzo;wm new
polish -
A/30x10x1,5-6000-L 6000 Fa&W

polish GS-304/ZP-221/P/Cr e

==
1 )
[ - 1
T
|

30x10
|||
66
20,5
Quality  Finish art. ty  Finish art.
polish GS-304/ZP-223/P/Cr e polish GS-304/ZP-224/P/Cr AAEW

| Quality  Finish art. .Or,-;:ii'r-_..’ Finish art.
polish GS-304/ZP-225/P/Cr 4wl m polish GS-304/ZP-226/P/Cr fuail/

277



5 SWING
& DOORS




satin  GS-304/D-B-990-1/5-B
AISIZ04 6-10 45 +90°,0° 950 +15°
polish GS-304/D-B-990-1/P/Cr-B

55
e | e O}
K 3 .8
/ |
v N
41

satin  GS-304/D-B-990-5/S-B
AlSIZ04 6810 45 +90°,0° 950 +15°
polish GS-304/D-B-990-5/P/Cr-B

satin  GS-304/D-B-990-6/S-B
AlSIZ04 610 45 +90°,0° 950 +15°
polish GS-304/D-B-990-6/P/Cr-B

279



280

AISI304

AlISI304

satin GS-304/D-B-990-2/5-B

polish GS-304/D-B-990-2/P/Cr-B

satin  GS-304/D-B-990-3/S-B

polish GS-304/D-B-990-3/P/Cr-B

AISI304

satin

GS-304/D-B-990-4/S-B

polish GS-304/D-B-990-4/P/Cr-B

6-10

8-10

8-10

6.5
N L .
'- /2
| | li
GLASS t |

16}

55 55

45 +90°, 0° 950 +15°
r‘rﬁ
| BN | s B
|[|ll |8 ig I|$
eyl |
0
~0
2
=
o
45 +90°, 0° 950 +15°
N
N ‘ , |
e D] B
= _ o
| l
B -~
41
5 55 ﬂl

'-j in
e85
p
GLASS t

45 +90°,0° 950 +15°



satin  GS-MS/D-B-980-2/S-B Anew
‘Brass 610 45 £90°,0° 950  20° +15°
polish GS-MS/D-B-980-2/P/Cr-B
50 45
H = D
¢ | |
ol l_ef ! (=5,
R ¥ 3 o
0 I'N 1
@6.6 @ ® 1 1 . L}_.
il ™ 1
GLASS 1 | t .o 36
39
B satin  GS-MS/D-B-980-1/5-B
Brass 610 45 £90°,0° 950  +20° +15°
~ polish GS-MS/D-B-980-1/P/Cr-B ew
o 5
6 4
| —
@)
@ R
=2 @) = 3
| =
]_ﬁ/ J ' |
o e | W [
26, ‘ 9. 56
-3
GlASSt _|
B
satin  GS-MS/D-B-980-6/S-B oW
‘Brass 610 45 £90°,0° 950  +20° +15°
polish GS-MS/D-B-980-6/P/Cr-B Aew

281




45 5.5 48

2 ol
g ~ | * Y o~ T]
© | o '_* v AP
] | % '"A‘ }’ a
] b7 Gl
+ . | Q—’ |
1
i
| !
Sl
111'25 48/34 &
G5-MS/D-B-900-2L/P/Cr
Brass  polish 40
GS5-MS/D-B-900-2R/P/Cr
122 )
g L 45 GLASS CUT OUT FOR 135°
& ol I - ST
g i e ..\-". \
= -
:-\5' |II | \ﬁ—
_"} g | | o |
| 1 | .
! A 4

__|[_é&10 g 27

7
jz:,,
I
14

GS-MS/D-B-900-4L/P/Cr
Brass polish 40
GS-MS/D-B-900-4R/P/Cr

282



[
8 I : O &
| I .

| 31 | 31

Quality Finish

[ = cosoumanes

2

art.

Quality Finizh
WGS@M}MQZS{S

ﬁl_w polish GS-MS/M-929/P/Cr e

©28

I ) ]
' $ 750-1040

satin  GS-304/ZP-925-P/Cr
AISI304 810 ;E‘S'é 750-1050
polish GS-304/ZP-925-SN

i

283




- 9.6 vaiis




145

21 ®
g/
.|..
-+
- | &
{
)
1 qf?
1 =
A !
]
S T T
) T o
—_ —
b = s
(kLS =zatin | GS-304/ZP-800/S-B
o™
wy ' |

]

L 162

v - o L
as e
@ >

b2 =
o
L
=
(AEELFR catin - GS-304/ZP-802/S-B
162
%
= 51 ‘3(3/"( o~
= i —
EELEY satin - GS-304/ZP-801/S-B g =

|
)

I
|

L T oy
e
A
I
> 2 —@4@—@
o
1 | |
| 375 | 275 |
40
B 105 N

satin  GS-304/ZP-802/S

285



- | ‘ ¢P
T
i
RI 8 .
-t / 1
e
g
166
162
. |
|
2]
| @148 an ) ==
EELY catin - GS-304/ZP-811/S L 58-63 __,|

INSELIY satin | GS-304/ZP-808/S

- "‘ 5@9

73
Y 4

n
]?6- I |
| B
) &

52

satin  GS-304/ZP-809/S

286



Quality  Finish art.
(BELEY  satin - GS-304/ZP-882/S

. . glass Gmax °
E A : p
Quality  Finish art ' (ka) STO =

G5-304/ZP-804/S-B  10-12 100 +80°,0° s | AW

GS-304/ZP-821/S 120

-]
Quality  Finish art. Gmax (kg) STOP %
Vv

new
= +130°, 0°
GS-304/ZP-822/S-B 150 new

A

)
=
g.
74
5

287



V5]
E
;Z
oI
o)
3
o

288

: Quality

art.

GS-304/ZP-814/S

[ Quality

AISI304

Finish

art.

GS-304/ZP-815/S

Quality

Finizh

art.

GS-304/D-203/S

43

75

&1
32-34

10-12

13

s}
Y

5

Bz,

‘MBA 158
o
!
Pa03 I
i |
L

12

100




8-]2'

INEEGEE  =atin @ GS-304/D-200/S W -H- '_ ﬁ_,L ;
|2 E———
—
o RO
8-12
g g ~
. 5] 13
i
[+ | B
i
gI 8 | |
¢ ® |
. | P .
8 | [ 25
| 22
. : GS-304/D-200/S
I satin @ GS-304/D-L18S/S GS-304/D-207/S MW
VIEW A
32
Ll
i
Gy' 13
INGEGEY  =atin @ GS-304/D-206/S FEW == w
/ /! " T J .
| b
s |
/ — 74 —
15
= T
= : .
b
|
2 g 3 |
| /T’/

= : S—— i . \b
satin  GS-304/D-L18R/S GS-304/D-206/S W T 25

289



A
—':“—‘%.‘-
14 T | )
——I—r— T3

I r\._ ESl ]

T i Y 1
L art ‘_'T = T of
o o

RGPS =atin  GS-304/D-201/S el ‘ s

RGPS =atin @ GS-304/D-207/S el

290



| Quality  Finish art. A B c a b s d

45 120 10 30 65 S50 S 15

|
&

Quality Finish art. A B C D a b H

AISI304 § D8/04-2-i 80 90 10 50 3 66 15

Quality  Finish art. A B c a b = d H

AlSI304 i 5 15

GLASS WALLS

| __" ] \G’
1 @ ﬁz _ =
Quality  Finich art. A B € a b = d H : Tl

AISI304 D8/06 48 126 8 53 53 3B 5,5 2865 5 H

291



292

A

A

S1304

SI304

satin

satin

satin

GS-304/M1-25-300/S
GS-304/M1-25-400/S 25

GS-304/M1-25-500/S

GS-304/M3-20-300/S
GS-304/M3-20-400/S 20

GS-304/M3-20-500/S

ELOX GS-AL/M3-24-240/S/E

300

400

500

320

420

520

24x24

300

400

500

240

D
— i r—
= .
p— LA
=
‘ He

8-12

8-12 L

i




293



9.6 Vs




GS-.../N/B

GS-AL/ZP-32x46/N/B ' T m’P . s
GS-AL/ZP-32x100/N/B \ q {

GS-304/ZP-32x46/S ' ”

GS-304/ZP-32x100/S | | | mew
GS-AL/ZP-32x46/N/E ' 3m 1pes

GS-AL/ZP-32x100/N/E ALUMINIUM

GS-AL/ZP-Z02A-8/N/B
GS-AL/ZP-Z02A-10/N/B
GS-AL/ZP-Z02A-12/N/B
GS-AL/ZP-ZO2AW-8/N/B
GS-AL/ZP-ZO2AW-10/N/B
GS-AL/ZP-ZO2AW-12/N/B
GS-304/ZP-Z02A-8/S
GS-304/ZP-Z02A-10/S
GS-304/ZP-Z02A-12/S
GS-304/ZP-Z02AW-8/S
GS-304/ZP-ZO2AW-10/S
GS-304/ZP-Z02AW-12/5
GS-AL/ZP-Z02A-8/N/E
GS-AL/ZP-Z02A-10/N/E
GS-AL/ZP-Z02A-12/N/E
GS-AL/ZP-ZO2AW-8/N/E
GS-AL/ZP-ZO2AW-10/N/E
GS-AL/ZP-ZO2AW-12/N/E

black

ELOX

GS-AL/ZP-A02/N/B

GS-AL/ZP-A02W/N/B

GS/ZP-A02-i

- e 3000
GS-304/ZP-A02W/S

GS/ZP-A02-a

GS-AL/ZP-A02W/N/E

black

ELOX

32x46

33x100

32x46

33x100
33x100

33x100

32x46

33x100

33x100
33x100

new

s
'
g
v
s
'
s
'
s
'
<
v
46
100

3m

295



27-31

] (“; g
/ J LA
ﬁ' 1

o

- | SR
- | o
=¥ | S

I Quality Finish Effect art. L G max glass t 1x3m 9x1pcs [ 2x3m

INOX GS-304/ZP-30x38/S 3000 45 kg/m 812 AlSI304

Quality Finish Effect art. L G max glasst | 1x3m | 9x1pcs | 2x3m

INOX GS-304/ZP-30x40/S 3000 30kg/m 1012 AAEMW _ AlSI304

SHOWER PROFILE
: Quality Finish Effect art. L G max glasst 1x3m 9x1pcs | 2x3m
polith  INOX GS-304/ZP-30x40/P/Cr 3000 20kg/m 810 A& 1 AISIZ04

296



Quality

Quality

Finish  Effect art.

A B L glass t

INOX GS-AL/ZP-2020/S/VA

Finish Effect art.

20 20 3000 8,10

L glass ‘

ELOX GS-AL/ZP-21x27/N/E

3000 8-12 |

2x3m

GS-PVC/ZP-2020GT-8/N/T
GS-PVC/ZP-2020GT-10/N/T

2x3m

GS-PVC/ZP-2127-8/N/T
GS-PVC/ZP-2127-10/N/T

GS-PVC/ZP-2127-12/N/T

p s}

)
Eé
74
5

297



~

Quality Finish  Effect art. L
.- ELOX GS-AL/ZP-2018/N/E
i INOX GS-AL/ZP-2018/S/VA

. Quatity Finish Effect art. L glass t
S~ ELOX GS-AL/ZP-4018/N/E Ao

- 3000 810
INOX  GS-AL/ZP-4018/S/VA e

175}
z
g:
Eﬂ.
5]
3
o

Quality Finish  Effect art. A B L glass t
GS-AL/ZP-1510/P/Cr 15 10 6

e
polich ELOX GS-AL/ZP-2012/P/Cr 20 12 3000 8 Mew
MW

GS-AL/ZP-2014/P/Cr 20 14 10

298



299



new

ELOX  GS-AL/ZP-3535/N/E 3000 6-10

ALUMINIUM

Left/Right

22x6x100

2

' GS-PVC/ZP-3535-6/N/B = GS-PVG/ZP-3535-8/N/B  GS-PVC/ZP-3535-10/N/B = 3000

300



]

A/6925-040

40

A/6900-020

28

26

GS-AL/ZP-20x30/S/VA

20

27

A19/5042-008

A19/5042-008

GS-PVG/ZP-2030-
8/N/B

Mew

GS-PVC/ZP-2030-
10/N/B

a2 4

5000

2500

3000

301



5 GLASS
i WALLS




ALUMINIUM

35-37

2086

[
('l)
“ =
e
GS-AL/ZG-L-N-E Mew
ELOX
GS-AL/ZG-R-N-E e
890 2 2
—-—l—— —-—l——
S
o
w
. (o]
35
45
65
60 .
ol ©
3 S
O
o
w
©
4
ol
N
=
26 802 26
(854)
DETAIL C
B 15 39
) H“\\ 18
7\ \'\. 5
)
=1

o
i

GS-304/D-200/S

J ,f"J 15,5 -

8-10

==

35-37

-

--//

= GS-304/D-805/5-B

303



55

32

ELOX GS-AL/ZU-N-E

ALUMINIUM

HIAIM F18YIIVA

55
32

GS-304/D-808/S

304



GS-AL/ZZ-6000-N-E W
ALUMINIUM ELOX
GS-AL/ZL-6000-N-E new
860
o
| o
, &
= N /
il 28
W 55
65 ¥
60 27
o r E
o | e 1 g
S(f " L S
2
=
- ++
2
- | - ) 5 ﬂH!
7 |
=
) 13 802 15
SECTION A-A (830)
DETAIL B DETAIL C
GS-304/D-808/S

G$-304/D-200/S

305



T

ALUMINIUM  satin ~ ELOX GS-AL/D-808/S Al

2, 56 . 45

‘810

28

=
o
»

@10 TQ
|

INOX GS-304/D-805/S-B ew
=atin 45
ALUMINIUM ELOX GS-AL/D-805/S/E-B men

306



307






=1




6 SEGMENT ,'_i o
= B STARS [prem |




art. V:(min) Vs(max) Ns D d h m

NS240-N1 140 138

NS240-N2 180 310
I - 240 395 108 v
NS240 170 120 350
NS240-NV 170 120 350
NS270-N1 130 128
NS270-N2 170 290
270 395 132 v
NS270 160 180 350 v
NS270-NV 160 180 350

SET = =N+ N2
Stair set NS240(t=40) Stair set NS270(t=40)

art. vimm) oo 40'N32 40'N52 a0 NS240 art vimm)  ns270 Ns270 NS270 NS27O
max.  min. | N1 | N2 | -NV A1 AR2 max. min. N1 -N2 -y AtTAR2

180 L [ = | = | = | - 170 | - . (e

360 1x . 1x . - ~ . 340 1x 1% - = =

550 530 . 1x . 1x . 1x . _ - 5§20 | 500 1% 1% 1 = =

- - ! ' 1 700 | 860 | 1x | x| 1x | - | 1x

740 700 1x 1x 1x - 1x

930 870 1% 1% 1x Yic | (2 450 s | i | L I 1x | i

1120 1040 1% 1% 1x 2x | 3x _1060_ 20 | = | 1 1x | o I o

1310 | 1210 . o . 3y ax 1240 . 1‘140. 1x . 1x 1x

1420 | 1300 1% 1x 1% 4x | Bx

3x 4%
1500 1380 1x 1% 1x 4x | Bx

1680 1550 1% 1% 1x bx' | 'Bx | L2 | 1460_ i | s 1x | bx I G

. 1880 . 1720 . 1x 1% 1% 6% | 7% | 1780 _ 1620 Lo I 1x Bx | Tx
2070 . 1890 . 1% ' 1x ' 1% ' vl 1960 _ 1780 | ox | ax 1x T Bx
2260 20680 1x | 1x | ix 8  9x 2140 | 1940 x| x| x| Bx | X
NS240/V245-223 2450 2230 1ix | ix  1x  9x | 10x 2320 | 2100 | 1x | 1x x| 9x | 10x
NS240/V264-240 2640 2400 ix  ix  ix  10x| 1ix NS270/V250-226 2500 2260 ix  1x  1x  10x | Tix
NS240/V283-257 2830 2570 1x 1x 1x  11x | 12x NS270/V268-242 2680 2420 1x 1x 1x x| 12x
NS240/V302-274 3020 2740 14 1x 1% 12x | 13x NS270/V286-258 2880 2580 1x 1x Ix  12x | 13x
3210 | 2910 | 1x | 1x | 1x | 18x  14x NS270/V304-274 3040 2740 1x  1x  1x  13x | 14x

assembly video virtual studio applications simulation template

YoulD umakov NS240-model

311






A-DIN 913-A2 M8x22 20
8
A-DIN 914-A2 M5x5 5 5 A-DIN 913-A2 M3x80 80
raw raw AW
A-DIN 914-A2 M6x6 8 & A-DIN 913-A2 M10x35 35
10
A-DIN 913-A2 M10x100 100
A-DIN 7991-A2 M5x10 10
A-DIN 7380-A2 M5x12 5 12
A-DIN 7991-A2 M5x16 5 16
AISI304 A-DIN 7380-A2 M&x12 8 12
A-DIN 7991-A2 M5x20 20
raw  A-DIN 7380-A2 M2x20 8 20
A-DIN 7991-A2 M&x2 8
A4-DIN 7380 M5x12 5 12
A-DIN 7991-A2 M6x10 10 AlSI316
SE 6 A4-DIN 7380 M8x20 3 20
A-DIN 7991-A2 M&x16 16
A-DIN 7991-A2 M6x20 20
A-DIN 7991-A2 M8x110 8 110
A4-DIN 7991 M5x16 5 16
A4-DIN 7991 M8x20 8 20 el
A-DIN 7991-A2 M5x16-Fix 5 16 | neW A-DIN 7380-A2 M5x12-Fix 5 MW
raw 12
A-DIN 7981-A2 M&x8-Fix 8 8 | hew raw  A-DIN 7380-A2 M6x12-Fix 6 Mew
A-DIN 7380-A2 M8x20-Fix a 20 e
A2-DIN 912 M5x20 5 A
raw 20
A2-DIN 912 M8x20 3

313



A-DIN 917 M8 8 10  heWw A-DIN 934 M& 6 5
raw
A-DIN 917 M10 10 12 eW A-DIN 934 M8 8 85
raw  A-DIN 934 M10 10 8
A-DIN 934 M12 12 10
AlSI316 A4-DIN 934 M10 10 8
A-DIN 1587-A2 M& 6 12 A-DIN 562 M6 6 10 3,2
A-DIN 1587-A2 M8 8 15 A-DIN 562 M8 8 13 4
raw
raw  A-DIN 1587-A2 M10 10 18 A-DIN 562 M10 10 16 5
A-DIN 1587-A2 M12 12 22 AISIZ16 A4-DIN 562 M5 5 8 27
A4-DIN 1587 M10 10 18
varwrannnarnibbbrrbibil
WOOD/M8-D 8
WOOD/M10-D 10 ADINITI MY g
WOOD/M12-D 12
A-DIN 975 M3 8
1000
A-DIN 975 M10 10
A-DIN 975 M12 12
AISI304
A-DIN 975 M6-3M G
A-DIN 975 M8-3M 8
3000
raw  A-DIN 975 M10-3M 10
A-DIN 975 M12-3M 12
A4-DIN 975 M10 10 1000
A-DIN 6334V M8x25-A2 8 i1 A4-DIN 975 MB&-3M B
25
A-DIN 6334V M10x25-A2 10 13 AISI316 A4-DIN 975 M8-3M 8
3000
DIN 6334V M6&x30-Zn 8 9 Mew A4-DIN 975 M10-3M 10
DIN 6334V M8x30-Zn 8 11 30 A4-DIN 975 M12-2M 12
DIN 6334V M10x30-Zn 10 13

314



raw
AISI304 [
AISI316

raw

raw

A-FTT-MS5

A-FTT-M&

A-FTT-M8

12

15

16,5

A-DIN 9210 M&xE0-A2
A-DIN 9210 M10x100-A2
A4-DIN 9210 M8xE0

A-DIN 7505A 5x20

A-DIN 7505A 5x35

A-DIN 125-A2 M5

A-DIN 125-A2 M&

A-DIN 125-A2 M8

A-DIN 125-A2 M10

A-DIN 125-A2 M12

w

30
20

25

S8

Qs/79 A-FTT-...

A-PH 5x20 20

A-PH 5x35 356

m raw  A-DIN 7337-A2 4,8x20 20 4.8

315



b
L L
A19/27-M6 8 9
) 140
raw  A19/27-M8 8 N m raw  A5/08-105x11xM8 8 105 1
A19/27-M10 10 13

m__ = ———— — -]

A-Q5/08-10x120CE 10 120 el Q5/08-FH12-50

Q5/06-10x95CE 10 95 Q5/08-FH12-50-B 8 125 12
Q5/06-8x100CE 8 92 raw  A14/08-FH12-50

Q5/06-12x103CE 12 103

Q5/06-12x118CE 12 118

Q5/06-10x120CE 10 120

Q5/06-12x128CE 12 128

Q5/06-16x123CE 16 123

Q5/06-16x138CE 16 138

Q5/08-TNTRO8-8x52 8 52 12 Q5/07-8 NYLON 8 254 40

gray | Q5/07-10 NYLON 10 38 80

Q5/07-12 NYLON 12 48 60

316



A/1962-000 A/1962-042

~ A/1962-000
satin
A/1962-042

13

A/1963-000 A/1963-042

A/1963-000 Aew
A/1963-042 Mew

o) 'ﬁa

N | V]

317



318

Q5/03-300

Q5/01GF-300 Nordic  -20°C
Q5/01GF-400 Nordic  -20°C

300ml, hobby

Q5/01GF-300
Q5/01GF-400
Qs/77
[ |
Q5/05TR-310

Silicone

adjustable

Q5/03-400
&l

Q5/01TK-300 Winter  -20°C Q5/04

Q5/01TK-400 Winter  -20°C

Q5/01TK-300

Q5/01TK-400

400ml, profi

M17, h215

Q9/03-0,2x9

Q9/03-3x12

A19/05-010
'A19/05-030
'A19/05-050
'A19/05-100

02 9

50

3 12 185

hg

10
30 frei
50
100



' AL/glass-mont |

satin  A19/04-PVC

PVC

(AEELE]  raw  A19/model741-8

polish !ﬁ19f04-PVC-L

T e

A19/25 5 m Q10/Therm-M12 1212

‘a8/95 3g |

319



A-DRILL-MS 4 Q8/SCREW-M5 Q&/DRILL-4 Q8/DRILL-4-HRC-SHORT
HSS-COS A-DRILL-M& 4.8 HSSE Q8/SCREW-M8 08/DRILL-6,5 TC Q8/DRILL-6,5-HRC-SHORT
A-DRILL-M8 6.4 Q8/SCREW-M10 Q8/CRILL-8 Q8/DRILL-9-HRC-SHORT

5 /40580-EC0 a4 - =X A/40880-PLASTIC 424 40 e

Youl[l[} umakov REGULAR technology

Q8/DRILL...
A-DRILL .. Q8/SCREW...

3

A/FDRILL-M3F A/FDRILL-M3C A/FTAP-M3
A/FDRILL-M4F A/FDRILL-M4C A/FTAP-M4
A/FDRILL-M5F A/FDRILL-M5C A/FTAP-M5
TC A/FDRILL-M&F TC A/FDRILL-M&C HSSE A/FTAP-Mé&
A/FDRILL-M8F A/FDRILL-MSC A/FTAP-M2
A/FDRILL-M10F A/FDRILL-M10C A/FTAP-M10
A/FDRILL-M12F A/FDRILL-M12C A/FTAP-M12

320



A/Glue-10g-C
A-DRILL-M5

Q1/RNO1-125x1
Q1/L01-125-40

Raany kot
Cutting disc

Q1/G0o1
A/zpray-Ws
Q/INOX-INSTALL-SET A&/
|
R
f.
A/Glue-10g-C 10 A/Glue-20g 20 A/Glue-50g-C W/glue-25ml wood
50
A/Glue-50g-D el

You([Tl) umakov

A/Cleaner-300mil 500

Rezny kot
Cutting disc

wwwrollkit.eu

A/spray-Ws 400 Q1/RNO1-125x1 cutting disc Q1/L01-125-40 flap disc
Q1/L01-125-80 flap disc
Q1/L01-125-120 flap disc

Q1/B02-INOX 345 Pipe cutting Q1/B02-INOX-RK Q1/B02-INOX Q1/Go1 100 360

321



Q@umakov“

2018/2019

Oty (Fiit | F (1 | n | B |n|B|c|=

e e e
mfzwBoC 78| oa | 8m 100 34 |
mB/aTU-0E sl=] [ | .
R P | Zn | 88|08 w00 A
Lo | o8 fimmisosl lazl [l
nizves || ™ e 7 8a|38| s
RfITV-SOC i
8 s s -ﬂlul! 20 (400| 34 | TO
HETV-100 Fu Zn o8 | 118 | 108 332 |130| 33 | 108

322



201617

KAT-INOX-2019/20 e KAT-GATES-2018/19 KAT-AUTOMATIONS-2018/19 |KAT-MIX-2019/20 e

PNL/ASM4-03-12 PNL/ASM5-02-16 PNL/ASME-09-16 PNL/ASM1-02-11

PNL/ASM2-02-11 PNL/ASM3-02-11 PNL/GO3-30x42

REK-CASE-INOX3 PNL/GLASS-AD-1-2017

323



324

AISI304

AISI304 AISI316 | 55 2205

material

finish/effect

v

PaY

AISI304

AISI316

5.5 2205

ALUMINIUM

satin

polish

INCX

$ & B

not asser

nhied

Mhew
A

AISI316

INOX

v

INOX

4

nerezova
ocel

hlinik

zZliatina
Zn+Al

Zelezo
zinok
maosadz
PVC
guma
buk
dub

sklo

brus
K320

lesk
surovy
nebraseny
Cierny
biely
sivy
nerez

eloxovany

potrebné

upravy

nezmonto-
vane

priblizny

rozmer

najpreda-

5.6 2205

v

v/

stal
nierdzewna

aluminium

stop cynku i
aluminium

zelazo
cynk

miedz
PYVC

guma
buk
dab

szklo

sziif
K320

polerowany
SUrowy
neszlifavany
czarmy
bialy
siwy
nierdzewny

anodowany

niezbedne

przystosowanie

niezlozone

przyblizone
wWymiary

bestseller

vanejsie

navinka
2019

novinka
2020

nowosé
2019

nowosé
2020

ALUMINIUM

v

AISI304

v

ﬂ@!ﬂlwm AISI304
| v T X 1 [ X

—_— b.‘l::
rozsdamentes | stainless
acél steel
aluminium aluminium
Zn+Al
dtvozet ZAMAC
vas iran
cink zinc
sargaréz brass
PVC PVC
gumi rubber
bikk beech
tolgy oak
iveg glass
szalcsiszolt brushed
K320 K320
tlkor 2
polirozott polished
nyers raw
natdr rough
fekete black
fehér white
szlirke gray
rozsdamentes inox
eloxalt elox
szikséges necessary
madositas modification
nem not
dsszeszerelt | assembled
PR approximate
kézelitd méretek i
legjobhan best seller
eladott
aj new
2019 2019
0 new
2020 2020

INOX
AlSI316

4

INOX
AISI316*

v

Edelstahl

Aluminium
Zinkdruckguss
Eisen
Zink
Messing
PVC
Gummi
Buche
Eiche

Glas

geschliffen
K320

poliert
roh
ungeschliffen
schwarz
weild
grau
Edelstahl

Eloxiert

Anpassung ist

notwendig

unmontiert

die Abmes-
sungen sind
ungefahr

Bestseller

Neuheit
2019

Neuheit
2020

5.6 2205 8

4

R

v

INOX

aluminium

alliage
Zn+Al

fer
zinc
laiton
PVC
gomme
hétre
chéne

VEITE

brossé
K320

poli
brossé
non-brossé
noir
blanc
gris
inox
anodisé

medification
nécessaire

non
assemblé

dimensions
approximatives

best-seller

nouveau
2019

nouveau
2020

va

‘NaCl

INOX
AISI316

AISI304

Py

562205

25 v

INOX

Mmu“m
/SO X S L S

PaY Pal
INOX AISI 304
- vhodny do prostredia bez chléru a oxidu sinéitého
INOX AlSI 316
- vhodny de prostredia s vysockym obsahom chléru, cxidu sinéitého,
vysoke] vihkosti, do primorskych regionov
INOX 8.5. 2205- vhodny do prostredia s vysokym absahom chléru, oxidu
siri¢itého,
vysoke] vihkosti s pritomnestou soli na pobrezi a na velnom mori.
INOX AlSI 304
- suitable for the environment without chlerine and sulphur dioxide lead
INOX AISI 316
- suitable for the environment with a high content of chlorine, sulphur dioxi-
de load, high humidity, coastal regions
INOX 8.8. 2205
- Suitable for envirenments with a high content of chlorine, sulfur dioxide,
high humidity with salt on the coast and on the high seas.

INOX AISI 304

- przeznaczone dla Srodowiska bez dwutlenku siarki oraz chloru

INOX AISI 316

- przeznaczone dla sredowiska o wysokie] zawartosci dwutlenku siarki oraz
chloru, wysckiej wilgotnos¢ craz w regionach nadmorskie

INOX 8.8. 2205

- Nadaje sie do srodowisk o wysckiej zawartosc chloru, dwutlenku siarki,

o wysokiej wilgotnosci, o duzym zascleniu, w strefach nadmorskich, lub w
bezposrednim kontakcie z woda morska.

INOX AISI 304

- alkalmazhato olyan kémyezetben, ahol nincs klor és kén-dioxid terhelés
INOX AlSI 316

- alkalmazhato olyan kémyezetben, ahol magas a kiér-, vagy kén-dioxid
terhelés, magas a paratartalom, tengerparti régiokban

INOX §.8. 2205

- Alkalmazhatd magas klar-, kén-dioxid-, s6s nedvességtartalmi
kérnyezetben, valamint tengerparton és a nyilt tengeren”.

INOX AISI 304

- geeignet in Umgebung ohne Chlor und Schwefeldioxid

INOX AISI 316

- geeignet in Umgebung mit einem hohen Gehalt an Chior, Schwefel-
dioxid oder in Umgebung mit hoher Luftfeuchtigkeit, in Kiistenregionen
INOX §.8. 2205

- gesignet fir Umgebungen mit hohem Gehalt an Chior, Schwefeldioxid
und hoher Luftfeuchtigkeit mit Salz an der Kiiste und auf hoher Ses

INOX AISI 304

- C?nvenab]e pour les envirennements sans chlore et/ ou bioxyde de
soufre

INOX AISI 316

- Convenable pour les environnemeants avec un contenu élevé de chlore et/
ou de bioxyde de soufre, une grande humidité, régions maritimes

INOX 8.8. 2205

- Convenable au milieu avec un contenu élevé du dioxyde de soufre, ainsi
qu‘au milieu humide contentant du sel, tel que le bord de mer ou la mer
ouverte.

EM 743305
EN 734130
h H
R S0cm <3m
100cm <12m
110cm < 30m
120cm > 30m

@ pravo na technicke, tvarové a rozmerové zmeny vyhradené/ rights to technical, shape and dimensional changes reserved 06/19



KROMPACHY
Hornadska 337
053 42

www.umakovshop sk
objednavky@umakov. sk

SERVIS

i

+421 517 911 491

+421 905 681 337
+421 905 429 377
info@umakovshop.sk

+421 908 944 153
obchod1@umakov.sk

REKLAMACIE

j@ +421 910 262 707

b4

obchod2@umakov.sk

UCTOVNE ODDELENIE \‘

2

+421 908 986 081
obchod3@umakov.sk

MARKETING

UMAKOV +421 910 262 820 +421 911 915 952 +421 911 08B0 261 +421 915 781 139
SK +421 911 664 245 +421 514 881 915 +421 911 750 326 marketing@umakov.sk
+421 911 383 645 reklamacie@umakov.sk +421 514 881 910-2
servis@umakov.sk uctovne@umakov sk
> BRATISLAVA E +421 917 739 412 BANSKA BYSTRICA E +421 905 304 548
Roznavska 1 +421 904 644 378 Zvolenska cesta 17 +421 911 664 245
831 04 ba@umakov.sk 974 05 bb@umakov.sk
> pRESOV “ﬁ +421 908 944 153 t% REVUCA
Lubochnianska 7 po@umakov.sk +421 911 664 245
080 01 ra@umakov.sk
[ RICANYU BRNA (i) +420775455079 Umakov CZ s.r.o.
Nam. Osvobozeni 63 info@umakov.cz IC: 01692771
664 82 DIC: CZ01692771
Ty waweumakoucz "\ +420 608 743 164 & +420 774 533 989 "\ +420 608 313 799
objednavky@umakov.cz obchod1@umakov.cz obchod2@umakov.cz obchod3@umakov.cz
UMAKOV
cZ ¢ servis %] REKLAMACE B-d UEGETNi ODDELENI
+I20 2 2A00a0 +421 911 915 952 +420 774 533 989
+420 778 001 899 reklamace@umakov.cz +420 608 313 799
+420 775 455079 ucetni@umakov.cz
servis@umakov.cz
PRAHA - OTICE +420 731 733 989 HRADEC KRALOVE +420 774 338 660
Otice 40 "ﬁ +420 775 061 735 Nachodska 607 +420 778 001 899
25163 Stancice praha@umakov.cz 503 01 hk@umakov.sk
OSTRAVA
& +420 778 065 444
ostrava@umakov.cz
ZABRZE ® +48 517 534 197
A Pawliczka 27A info@umakov pl
41-800
UMAKOW
PL & . umakow.pl & +48517534 197 & +48500 110 199 "B +48668 494 940
zamowienie@umakow.p sprzedaz1@umakow.p sprzedaz 2@umakow.pl sprzedaz3@umakow.nl
@ [ daz1@umakow.pl p o - p
8 GDANSK 8 RADOM 8 NOWY SACZ 8 POZNAN
Wojewodztwa: Wojewodztwa: Wojewddztwa: Wojewddztwa:
Pomorskie Fodlaskie Matopolskie Lubuskie
Warminsko-mazurskie Lubelskie Podkarpackie Wielkopolskie
Kujawsko-pomorskie Mazowieckie Slaskie Dolnotlaskie
Zachodniopomorskie Swietokrzyskie +48 510 696 236 Opolskie
+48 735 419 155 kodzkie noi_Wsacz@umakGW‘_p[ +48 602 335 611
+48 538 110 766 +458 664 855 685 poznan@umakow.pl
gdansk@umakow. pl radom@umakow_pl
BUDAPEST 3628920870-9
UMAKOV : i ® info@umakov. hu
Csonka Janos ut 1 -
HU 2142
_\ﬁ v umakov. hu j@ + 36 306 446 653 + 36 305 754 157 + 36 306 446 653
megrendeles@umakav.hu ertekesites1@umakov. hu ertekesites2@umakov.hu erteksites3@umakov.hu
jﬁ +36 307 572 009 BUDAPEST & MISKOLC
erteksitesd @umakov hu + 36 305 662 474 + 36 301 610 011
hungary3@umakov.hu miskolc@umakov.hu
PARTNER 8

EU

www.umakovshop.com

0eai



UMAKOV SK

www_umakov.sk
umakov@umakov.sk
+421 908 994 153
+421 905 681 337

UMAKOV DE

www_umakov.de

umakov@umakov.de
+421 907 684 761
+421 51 4881 933

UMAKOV RUSSIA

www_umakovshop.com
russia@umakovshop.com
+421 915 093 533
+421 51 4881 931

UMAKOV Cz

www._umakov.cz
umakov@umakov.cz
+420 608 743 164
+420 212 240 751

UMAKOV UK

www._umakovshop_com
uk@umakovshop.com
+421 915 093 533
+421 51 4881 931

UMAKOV FRANCE

www._umakovshop fr
info@umakovshop fr
tel: +33 (0)2.31.39 49 80
fax:+33 (0)2.31.39.66.74

UMAKOW PL

www_umakow._pl
umakow@umakow.pl
+48 517 534 197
+48 510 696 236

UMAKOV EUROPE

www_umakovshop_com
europe@umakovshop.com
+421 915 965 141

+421 51 4881 930

UMAKOV WORLD
www_umakovshop_com
info@umakovshop.com
+421 915 965 141
+421 51 4881 930

UMAKOV HU

www_umakov.hu
umakov@umakov_hu
+36 306 446 653
+36 305 754 157

UMAKOV SCANDINAVIA

www_umakovshop.com
scandinavia@umakovshop.com
+421 315 093 533

+421 51 4881 931

EUROPEAN UNION
European Regional Development Fund

Operational Programme Enterprise
and Innovations for Competitiveness




	0_Obálka spolu
	0_Obálka spolu2
	1_1.pdf
	1_Al Lišta
	1_Al Lišta2
	1_Al Lišta3
	1_Al Lišta4
	1_Al Lišta5
	1_Al Lišta6
	1_Al Lišta7
	1_Al Lišta8
	1_Al Lišta9
	1_Al Lišta10
	1_Al Lišta11
	1_Al Lišta12
	1_Al Lišta13
	1_Al Lišta14
	1_Al Lišta15
	1_Al Lišta16
	1_Al Lišta17
	1_Al Lišta18
	1_Al Lišta19
	1_Al Lišta20
	1_Al Lišta21
	1_Al Lišta22
	1_Al Lišta23
	1_Al Lišta24
	1_Al Lišta25
	1_Al Lišta26
	1_Al Lišta27
	1_Al Lišta28
	1_Al Lišta29

	1_4-Madla.pdf
	1-4_Madlá, 1-5_Spojky2
	1-4_Madlá, 1-5_Spojky3
	1-4_Madlá, 1-5_Spojky4
	1-4_Madlá, 1-5_Spojky5
	1-4_Madlá, 1-5_Spojky6
	1-4_Madlá, 1-5_Spojky7
	1-4_Madlá, 1-5_Spojky8
	1-4_Madlá, 1-5_Spojky9
	1-4_Madlá, 1-5_Spojky10
	1-4_Madlá, 1-5_Spojky11
	1-4_Madlá, 1-5_Spojky12
	1-4_Madlá, 1-5_Spojky13
	1-4_Madlá, 1-5_Spojky14
	1-4_Madlá, 1-5_Spojky15
	1-4_Madlá, 1-5_Spojky16
	1-4_Madlá, 1-5_Spojky17
	1-4_Madlá, 1-5_Spojky18
	1-4_Madlá, 1-5_Spojky19

	2_Stlpiky.pdf
	02_Stĺpikové zábradlia2
	02_Stĺpikové zábradlia3
	02_Stĺpikové zábradlia4
	02_Stĺpikové zábradlia5
	02_Stĺpikové zábradlia6
	02_Stĺpikové zábradlia7
	02_Stĺpikové zábradlia8
	02_Stĺpikové zábradlia9
	02_Stĺpikové zábradlia10
	02_Stĺpikové zábradlia11
	02_Stĺpikové zábradlia12
	02_Stĺpikové zábradlia13
	02_Stĺpikové zábradlia14
	02_Stĺpikové zábradlia15
	02_Stĺpikové zábradlia16
	02_Stĺpikové zábradlia17
	02_Stĺpikové zábradlia18
	02_Stĺpikové zábradlia19
	02_Stĺpikové zábradlia20
	02_Stĺpikové zábradlia21
	02_Stĺpikové zábradlia22
	02_Stĺpikové zábradlia23
	02_Stĺpikové zábradlia24
	02_Stĺpikové zábradlia25
	02_Stĺpikové zábradlia26
	02_Stĺpikové zábradlia27
	02_Stĺpikové zábradlia28
	02_Stĺpikové zábradlia29
	02_Stĺpikové zábradlia30
	02_Stĺpikové zábradlia31
	02_Stĺpikové zábradlia32
	02_Stĺpikové zábradlia33
	02_Stĺpikové zábradlia34
	02_Stĺpikové zábradlia35

	4_1.pdf
	4_1_Lankový systém, 4_2_Madlá, 4_3_LED Madlá2
	4_1_Lankový systém, 4_2_Madlá, 4_3_LED Madlá3
	4_1_Lankový systém, 4_2_Madlá, 4_3_LED Madlá4
	4_1_Lankový systém, 4_2_Madlá, 4_3_LED Madlá5
	4_1_Lankový systém, 4_2_Madlá, 4_3_LED Madlá6
	4_1_Lankový systém, 4_2_Madlá, 4_3_LED Madlá7
	4_1_Lankový systém, 4_2_Madlá, 4_3_LED Madlá8
	4_1_Lankový systém, 4_2_Madlá, 4_3_LED Madlá9
	4_1_Lankový systém, 4_2_Madlá, 4_3_LED Madlá10
	4_1_Lankový systém, 4_2_Madlá, 4_3_LED Madlá11
	4_1_Lankový systém, 4_2_Madlá, 4_3_LED Madlá12
	4_1_Lankový systém, 4_2_Madlá, 4_3_LED Madlá13
	4_1_Lankový systém, 4_2_Madlá, 4_3_LED Madlá14
	4_1_Lankový systém, 4_2_Madlá, 4_3_LED Madlá15
	4_1_Lankový systém, 4_2_Madlá, 4_3_LED Madlá16
	4_1_Lankový systém, 4_2_Madlá, 4_3_LED Madlá17
	4_1_Lankový systém, 4_2_Madlá, 4_3_LED Madlá18
	4_1_Lankový systém, 4_2_Madlá, 4_3_LED Madlá19
	4_1_Lankový systém, 4_2_Madlá, 4_3_LED Madlá20
	4_1_Lankový systém, 4_2_Madlá, 4_3_LED Madlá21
	4_1_Lankový systém, 4_2_Madlá, 4_3_LED Madlá22
	4_1_Lankový systém, 4_2_Madlá, 4_3_LED Madlá23
	4_1_Lankový systém, 4_2_Madlá, 4_3_LED Madlá24
	4_1_Lankový systém, 4_2_Madlá, 4_3_LED Madlá25
	4_1_Lankový systém, 4_2_Madlá, 4_3_LED Madlá26
	4_1_Lankový systém, 4_2_Madlá, 4_3_LED Madlá27
	4_1_Lankový systém, 4_2_Madlá, 4_3_LED Madlá28
	4_1_Lankový systém, 4_2_Madlá, 4_3_LED Madlá29

	4_4.pdf
	4_4_Držiaky madla, 4_5_Držiaky prútov, 4_6_Prechody2
	4_4_Držiaky madla, 4_5_Držiaky prútov, 4_6_Prechody3
	4_4_Držiaky madla, 4_5_Držiaky prútov, 4_6_Prechody4
	4_4_Držiaky madla, 4_5_Držiaky prútov, 4_6_Prechody5
	4_4_Držiaky madla, 4_5_Držiaky prútov, 4_6_Prechody6
	4_4_Držiaky madla, 4_5_Držiaky prútov, 4_6_Prechody7
	4_4_Držiaky madla, 4_5_Držiaky prútov, 4_6_Prechody8
	4_4_Držiaky madla, 4_5_Držiaky prútov, 4_6_Prechody9
	4_4_Držiaky madla, 4_5_Držiaky prútov, 4_6_Prechody10
	4_4_Držiaky madla, 4_5_Držiaky prútov, 4_6_Prechody11
	4_4_Držiaky madla, 4_5_Držiaky prútov, 4_6_Prechody12
	4_4_Držiaky madla, 4_5_Držiaky prútov, 4_6_Prechody13
	4_4_Držiaky madla, 4_5_Držiaky prútov, 4_6_Prechody14
	4_4_Držiaky madla, 4_5_Držiaky prútov, 4_6_Prechody15
	4_4_Držiaky madla, 4_5_Držiaky prútov, 4_6_Prechody16
	4_4_Držiaky madla, 4_5_Držiaky prútov, 4_6_Prechody17
	4_4_Držiaky madla, 4_5_Držiaky prútov, 4_6_Prechody18
	4_4_Držiaky madla, 4_5_Držiaky prútov, 4_6_Prechody19
	4_4_Držiaky madla, 4_5_Držiaky prútov, 4_6_Prechody20
	4_4_Držiaky madla, 4_5_Držiaky prútov, 4_6_Prechody21
	4_4_Držiaky madla, 4_5_Držiaky prútov, 4_6_Prechody22
	4_4_Držiaky madla, 4_5_Držiaky prútov, 4_6_Prechody23
	4_4_Držiaky madla, 4_5_Držiaky prútov, 4_6_Prechody24
	4_4_Držiaky madla, 4_5_Držiaky prútov, 4_6_Prechody25
	4_4_Držiaky madla, 4_5_Držiaky prútov, 4_6_Prechody26
	4_4_Držiaky madla, 4_5_Držiaky prútov, 4_6_Prechody27
	4_4_Držiaky madla, 4_5_Držiaky prútov, 4_6_Prechody28
	4_4_Držiaky madla, 4_5_Držiaky prútov, 4_6_Prechody29
	4_4_Držiaky madla, 4_5_Držiaky prútov, 4_6_Prechody30
	4_4_Držiaky madla, 4_5_Držiaky prútov, 4_6_Prechody31
	4_4_Držiaky madla, 4_5_Držiaky prútov, 4_6_Prechody32
	4_4_Držiaky madla, 4_5_Držiaky prútov, 4_6_Prechody33
	4_4_Držiaky madla, 4_5_Držiaky prútov, 4_6_Prechody34
	4_4_Držiaky madla, 4_5_Držiaky prútov, 4_6_Prechody35
	4_4_Držiaky madla, 4_5_Držiaky prútov, 4_6_Prechody36
	4_4_Držiaky madla, 4_5_Držiaky prútov, 4_6_Prechody37
	4_4_Držiaky madla, 4_5_Držiaky prútov, 4_6_Prechody38
	4_4_Držiaky madla, 4_5_Držiaky prútov, 4_6_Prechody39
	4_4_Držiaky madla, 4_5_Držiaky prútov, 4_6_Prechody40
	4_4_Držiaky madla, 4_5_Držiaky prútov, 4_6_Prechody41
	4_4_Držiaky madla, 4_5_Držiaky prútov, 4_6_Prechody42
	4_4_Držiaky madla, 4_5_Držiaky prútov, 4_6_Prechody43
	4_4_Držiaky madla, 4_5_Držiaky prútov, 4_6_Prechody44
	4_4_Držiaky madla, 4_5_Držiaky prútov, 4_6_Prechody45
	4_4_Držiaky madla, 4_5_Držiaky prútov, 4_6_Prechody46
	4_4_Držiaky madla, 4_5_Držiaky prútov, 4_6_Prechody47

	4_7.pdf
	4_72
	4_73
	4_74
	4_75
	4_76
	4_77
	4_78
	4_79
	4_710
	4_711
	4_712
	4_713
	4_714
	4_715
	4_716
	4_717
	4_718
	4_719
	4_720
	4_721
	4_722
	4_723
	4_724
	4_725
	4_726
	4_727
	4_728
	4_729
	4_730
	4_731
	4_732
	4_733
	4_734
	4_735
	4_736
	4_737

	5.pdf
	52
	53
	54
	55
	56
	57
	58
	59
	510
	511
	512
	513
	514
	515
	516
	517
	518
	519
	520
	521
	522
	523
	524
	525
	526
	527
	528
	529
	530
	531
	532
	533
	534
	535
	536
	537
	538
	539
	540
	541
	542
	543
	544
	545
	546
	547
	548
	549
	550
	551
	552
	553
	554
	555
	556
	557
	558
	559
	560
	561
	562
	563
	564
	565
	566
	567
	568
	569

	6.pdf
	62
	63
	64
	65
	66
	67
	68
	69
	610
	611
	612
	613
	614
	615
	616
	617
	618

	obalka2.pdf
	0_Obálka spolu3
	0_Obálka spolu4

	1_2.pdf
	1-2_Terče, 1_3_Spigoty2
	1-2_Terče, 1_3_Spigoty3
	1-2_Terče, 1_3_Spigoty4
	1-2_Terče, 1_3_Spigoty5
	1-2_Terče, 1_3_Spigoty6
	1-2_Terče, 1_3_Spigoty7
	1-2_Terče, 1_3_Spigoty8
	1-2_Terče, 1_3_Spigoty9
	1-2_Terče, 1_3_Spigoty10
	1-2_Terče, 1_3_Spigoty11
	1-2_Terče, 1_3_Spigoty12
	1-2_Terče, 1_3_Spigoty13
	1-2_Terče, 1_3_Spigoty14
	1-2_Terče, 1_3_Spigoty15
	1-2_Terče, 1_3_Spigoty16
	1-2_Terče, 1_3_Spigoty17

	3.pdf
	32
	33
	34
	35
	36
	37
	38
	39
	310
	311
	312
	313
	314
	315
	316
	317
	318
	319
	320
	321
	322
	323
	324
	325
	326
	327
	328
	329
	330
	331
	332
	333


